


Industrial Electronics IP54 Aluminium
Enclosure

PRODUCT INFORMATION

Highly durable robust aluminium diecast boxes with RFI shielding properties.
Diecast aluminium

Lid mounted by four M3 machine screws

Temperature resistant up to 260 degrees C (without gasket)

Highly Durable and shock resistant

Vertical guides for PCB fixing

Designed to meet the requirements of IP54

Or additionally, IP65 with the gasket accessory

EXTERNAL
ITEM No. COLOUR DIMENSION(mm)
RND 455-00036 Grey 50 x 50x 31
RND 455-00037 Grey 101 x 50 x 26
RND 455-00038 Grey 112x 62 x 31
RND 455-00039 Grey 120 x 66 x 40
RND 455-00040 Grey 152 x 82 x 50
RND 455-00041 Grey 192 x 112 x 61
RND 455-00042 Grey 121 x 95 x 61

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



RND 455-00036

_A
B
ﬁjﬁ”:
S

SECTION B-B

4x M3
TAPPED

iy
T

P

5 PITCH
7 Y ? 4 SLOTS
15| == L 2FEA
=
A
40

50

RND 455-00037

1
26] 75
|RND 455-00037 |

LA

SECTION B-B
45SLOTS

2E A TAPPED

=t

Gt 1
3 = | = 5PITCH
=t
R
o1 9 ! 14 SLOTS
‘ 2EA
1.5
‘ T
=|
N Lkl (&
A
et —
40
BASE 5
f
20.25

1.50

Fd

——H 2.50

SECTION A-A

M3 CSK SCREW

4.25
‘ |
Ld:l=l=h"
}7 1.70
40
f€ T
50 | %
Ao )
[4C
50

M3 CSK SCREW

01

4x P 3.40
M3 CSK

0

C  4x93.40
M3 CSK

SECTION C-C

SECTION C-C

ISO VIEW

1:2

-
O

ISO VIEW

5

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



RND 455-00038

AN

SECTION B-B

7 SLOTS

— ¥

4x M3
TAPPED

i

BASE

26.25

RND 455-00039

il

SECTION B-B

7 SLOTS
2EA

\%B

A

U ke

:

BASE

35.50

5 PITCH

=

17 SLOTS
2EA

=

4x M3

M3 CSK SCREW

1.80 1.50

52

ISO VIEW
1:3

4x$3.40

SECTION A-A

62

r
0

SECTION C-C

—
O

M3 CSK SCREW t
\ ; .

LID
BASE\

/

TAPPED

.

5 PITCH

1.50

55.50

ISO VIEW
13

fo

4x® 3.40

2.50

SECTION A-A

10

SECTION C-C

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



RND 455-00040

M3 CSK SCREW
LID \r
BASE\

-

SECTION B-B ISO VIEW

10 SLOTS A 4x M3 M
’& 72 4x94
2 EA TAPPED 1.80 1.50 3 CSK

e ——— f

=3

S5PITCH |—/—————]

152,+0.20

24 SLOTS | ——
2 EA
O 2.70

f [ c————8»

|
|
|
|
142 +0.10 ‘ ————
|
|
|

+0.20

U demalan —1 [ b« :

A SECTION A-A C SECTION C-C

SELA 82

72+0.10
BASE 82 40.20 LD

T
1

45.50 +0.20

RND 455-00041
M3 CSK SCREW

; i
AN .
T 2 1:5

SECTION
B-B
o A TéAXP'\F/’\SD
2EA 101.60 éx® 3.40
. 1.80 . 1.50 C
- B |/ i
PYry Ty T ‘!_ )
s B s
—3 w }
9080 | | ‘ [ TspircH 90.80
19160 18].60 5 ! o 14SLOTS 191.60 L 181.60
2EA
90.80 ‘ 1 5
1.5 ! T 80
X i 2.50
B (s S
LA
101.60 SECTION A-A SECTION C-C
BASE 111.60 LID
5475

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



RND 455-00042

SECTION B-B
13 SLOTS
2EA TAPAED

5 PITCH

18 SLOTS

1211 2 EA

56.75

1.80 _1.50

SECTION A-A

4.25

M3 CSK SCREW .
LID \l
BASE&

A ISO VIEW
170 1:4
85 C 4xD3.40
F i
i m
| 2.70
i
LC
95 SECTION C-C
BASE

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



IP67 DIE-CAST Aluminium Boxes with Dual
Conductive and Continuous Silicon Gasket

PRODUCT INFORMATION

Material: Aluminium alloy ADC-12 to Japan (JIS)

Wall mounting holes and fixing screws are outside the sealing area for real sealing
Protection. M4 countersunk stainless screws are included to seize the cover and the body.
With continuous silicon gasket to meet IP67 rating of waterproof and dust.

With conductive gasket for perfect EMI shielding protection.

Die-casting mounting bracket (RND 455-00480) is available.

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



Natural Aluminium Alloy Enclosures

PRODUCT INFORMATION

Material: Aluminium alloy ADC-12 to Japan (JIS)

Wall mounting holes and fixing screws are outside the
sealing area for real sealing Protection.

M4 countersunk stainless screws are included to seize
the cover and the body.

@I R\D 455-00679 @DR\D 45500641

ITEM No.
RND 455-00641
RND 455-00642
RND 455-00643
RND 455-00644
RND 455-00645
RND 455-00646
RND 455-00647
RND 455-00648
RND 455-00651
RND 455-00649
RND 455-00650
RND 455-00652
RND 455-00653
RND 455-00654
RND 455-00655
RND 455-00656
RND 455-00657
RND 455-00658
RND 455-00659

EXTERNAL DIMENSION(mm)

96 x 96 x 45
96 x 96 x 67
192 x 96 x 45
192 x 96 x 67
274 x 173 x 66
274 x 173 x 100
150 x 100 x 50
150 x 100 x 75
152 x 112 x 30
200 x 150 x 50
200 x 150 x 75
200 x 150 x 28
152 x 112 x 55
162 x 162 x 55
162 x 162 x 80
202 x 142 x 55
202 x 142 x 80
262 x 182 x 55
262 x 182 x 90

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com




IP67 Sealed Aluminium Alloy Enclosures

PRODUCT INFORMATION

Material: Aluminium alloy ADC-12 to Japan (JIS)

Wall mounting holes and fixing screws are outside the
sealing area for real sealing Protection.

M4 countersunk stainless screws are included to seize the
cover and the body.

With continuous silicon gasket to meet IP67 rating of
waterproof and dust.

RND 455-00587

Silicone seal

ITEM No.
RND 455-00584
RND 455-00585
RND 455-00586
RND 455-00587
RND 455-00588
RND 455-00589
RND 455-00590
RND 455-00591
RND 455-00594
RND 455-00592
RND 455-00593
RND 455-00595
RND 455-00596
RND 455-00597
RND 455-00598
RND 455-00599
RND 455-00600
RND 455-00601
RND 455-00602

EXTERNALDIMENSION(mm)
96 x 96 x 45

96 x 96 x 67
192 x 96 x 45
192 x 96 x 67
274 x 173 x 66
274 x 173 x 100
150 x 100 x 50
150 x 100 x 75
200 x 150 x 28
200 x 150 x 50
200 x 150 x 75
152 x 112 x 30
152 x 112 x 55
162 x 162 x 55
162 x 162 x 80
202 x 142 x 55
202 x 142 x 80
262 x 182 x 55
262 x 182 x 90

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com




IP67 Aluminium Alloy Enclosures

PRODUCT INFORMATION

Material: Aluminium alloy ADC-12 to Japan (JIS)

Wall mounting holes and fixing screws are outside the
sealing area for real sealing Protection.

M4 countersunk stainless screws are included to seize
the cover and the body.

With conductive gasket for perfect EMI shielding
protection.

RND 455-00444
a —

N

-
o

ITEM No.
RND 455-00442
RND 455-00443
RND 455-00444
RND 455-00445
RND 455-00446
RND 455-00447
RND 455-00448
RND 455-00449
RND 455-00450
RND 455-00451
RND 455-00452
RND 455-00453
RND 455-00454
RND 455-00455
RND 455-00456
RND 455-00457
RND 455-00458
RND 455-00459

RND 455-00460

EXTERNALDIMENSION(mm)
96 x 96 x 45

96 x 96 x 67
192 x 96 x 45
192 x 96 x 67
274 x 173 x 66
274 x 173 x 100
150 x 100 x 50
150 x 100 x 75
200 x 150 x 50
200 x 150 x 75
200 x 150 x 28
152 x 112 x 30
152 x 112 x 55
162 x 162 x 55
162 x 162 x 80
202 x 142 x 55
202 x 142 x 80
262 x 182 x 55
262 x 182 x 90

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com




Wall Mounting Brackets

Ui

=
RND 455-00480 RND 455-00481 RND 455-00482

(1 set) includes

4 pcs of mounting brackets & 4 pcs of M5

X10 mm self-tapping screws.

Black & Light grey colour of wall mounting
bracket are available for ordering.

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com




ITEM NO DESCRIPTION ITEM NO DESCRIPTION ITEM NO DESCRIPTION
RND 455-00641 | Natural Aluminium Box (without the gasket) RND 455-00461 | Grey, IP67 RATING (with the silicon gasket) RND 455-00603 | Light Grey, IP67 RATING (with the silicon gasket)
RND 455-00584 | |P67 RATING (with the silicon gasket) RND 455-00660 | Light Grey Aluminium Box (without the gasket) RND 455-00622 | Black, IP67 RATING (with the silicon gasket)
RND 455-00442 | |P67 RATING (with the silicon & Shielded gasket) RND 455-00679 | Black Aluminium Box (without the gasket)

99.2
96.2
87.9
LID w9
79.3
76.3 DIA 3.2mm * 8mm DEEP (4) PLACES
7 ACCEPT M3.5 * 6mm GROUNDING SCREW
62
A 15
12
% D | = - DETAIL A-A
{ ; r Ii %
O ¢ C - 10
&7 N Y
AT & . 1 -
& i w /
ow A4 [y i
g 10 |
N B | DETAIL B-B
w7 | _
1zf/ } e -t
! B e
el L] %ﬂ ;
- ~ R - - 3.2
D
S D-D g
1
84.6 Do % %
e 96.2 ‘
byl ] DETAIL C-C
e L
I = R I =
@ M J _j & 1 FOURM) M4 x 20mm €0.787"> LG, SCREWS
* & - SUPPLIED FOR ASSEMBLY OF COVER TO BODY,
il ) ALL HOLE DIAMETERS HAVE £0.10mm TOLERANCE
ALL OTHER DIMENSIONS HAVE +0.30 mm TOLERANCE
BASE
99.2
96,2
89.2
84.6
83.6
80.6
7 o DIA 4.5mm * 8mm DEEP (2) PLACES
72 Qb-% 19 ACCEPT M5 * 10mm GROUNDING SCREW
-~ C iy qs\;gﬂs
?\1.3
12
iy = 2 N
B | B )
IS IR N I o DIA3.2mm BrTmDEEP(G)PLACES " N
AL I I g ° o) 75 ACCEPT M3.5 * 6mm GROUNDING SCREW ’s ~ 2
“ 2 T
(=] P
A (= A
o [ :
RIS
i e " A\ .
T
Y ¥
5
) I
\ 96.2
~ 2.8
i l ) 28 _ |
T ‘
f f L
R L SU S
el e
i—— * S M4*0.7 THREAD (4) PLACES 8
3.2
/77 —
DIA 4.5mm * 8mm DEEP (2) PLACES EE i/ 0 / I/
ACCEPT M5 * 10mm GROUNDING SCREW A // Y % %
BTENNS 7
DETAIL A-A DETAIL B-B

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com




ITEM NO DESCRIPTION ITEM NO DESCRIPTION ITEM NO DESCRIPTION
RND 455-00642 | Natural Aluminium Box (without the gasket) RND 455-00462 | Grey, IP67 RATING (with the silicon gasket) RND 455-00604 |  Light Grey, IP67 RATING (with the silicon gasket)
RND 455-00585 | 1P67 RATING (with the silicon gasket) RND 455-00661 | Light Grey Aluminium Box (without the gasket) RND 455-00623 | Black, IP67 RATING (with the silicon gasket)
RND 455-00443 | |P67 RATING (with the silicon & Shielded gasket) RND 455-00680 | Black Aluminium Box (without the gasket)
99.2
LID 9.2 10 Fﬁ
81.9 13.2 3.2
84.9 T —
79.3 //I’/ - /l/
12
p DETAIL B-B DETAIL C-C
I\ 15
12
> D
) ! D
k il g
<§ - C -
& <[]
&0 . 1
g C DA 3.2m * Sm DEP ¢4) PLACES !
N R @ oy e ] ACCEPT N3.5 *6mn GONDING S o } .
2% gr =% 5 B8 i 3 e 8
w® o & |
1 80 |
AN B |
Qe _
% Sl s o
I B % .
555 /%y sl
D n o
NI D-D
84.6
b 9.2
.j T 1] T ‘ D FOURMD M4 x 20mm (0.787" LG, SCREWS
) T T ‘ Il maae= SUPPLIED FOR ASSEMBLY OF COVER TO BODY,
e e SREEPE s 2) ALL HOLE DIAMETERS HAVE *0.10mm TOLERANCE
ol & ALL OTHER DIMENSIONS HAVE £0.30 mm TOLERANCE
@ o ~ -
il
BASE
99.2
96.2
89.2
84.6
83.6
DIA 4.5mn * Sam DEEP (2) PLACES
8255 . ACCEPT M5 *10mm GROUNDING SCRER
12 Q\b':ge 52
- C g\\"b‘b
Ry
®l N
1= =t o
i J’ 7 é .‘
— //////Az
o B B DIA 3.20m * 8om DEEP (6) PLACES T
NNy o AOCEPT 3.5 *6am GROUNDING SCREW o
[ I IR QT ¥ b ' [ =
" &
f R = i)
[ 77
E : -
%4}‘ & 7 W////%
] i /\ ,;///////////////////////////////////////////////
T
Y ¥ 7
S o
2 N ¢ c-C
96.2
- DIA 4.50m * 8am TEEP (2) PLACES
ml ml — ACCEPT N5 *10nm GRODNDING SCREW
M4*0.7 THREAD (4) PLACES 8 is
I .
P o
- 07
DETAIL B-B

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



ITEM NO DESCRIPTION ITEM NO DESCRIPTION ITEM NO DESCRIPTION
RND 455-00643 | Natural Aluminium Box (without the gasket) RND 455-00463 |  Grey, IP67 RATING (with the silicon gasket) RND 45500605 |  Light Grey, IP67 RATING (with the silicon gasket)
RND 455-00586 | IP67 RATING (with the silicon gasket) RND 455-00662 |  Light Grey Aluminium Box (without the gasket) RND 455-00624 | Black, IP67 RATING (with the silicon gasket)
RND 455-00444 | |P67 RATING (with the silicon & Shielded gasket) RND 455-00681 |  Black Aluminium Box (without the gasket)

LID
192
185.70 10 8
3.2 | 3.2
im0 it L
) R 7 7 - /I/
169.8
DETAIL B-B DETAIL C-C
) ) ]
B
~ —-3 2.5
100 196X192X15 e B ,:; )
0 Ins
ws 9|3 3 |-
155.8 2 | )
? ¢ R %
) \ i 29.9 | /
DIA 3.2m * 8m DEEP (6) FL
C TR 5.5 Sem m&gmpﬁﬁm A (;f = ( - Et
% 1‘54> i — 8
+ 67.9 L %6 / LD
135.8
159.8 ) FOURM) M4 x 20mm (0.787") LG, SCREWS
" SUPPLIED FOR ASSEMBLY OF COVER TO BODY,
ﬁJ 2.5 - © 2> ALL HOLE DIAMETERS HAVE £0.10mm TOLERANCE
{ = - i ‘ ALL OTHER DIMENSIONS HAVE £030 mm TOLERANCE
] —] =T
7 * 174.8
BASE
192 8
187.00 M4*#(,7 THREAD (6) PLACES -
181.40 -
178.40 T 7w
N J 7e
4 1698 § &
by TS o DETAIL A-A DETAIL B-B
@ pzz
B 24 .6 A J 3419 ﬂr”’ T
$: 156 ] -
B 2 DIA 3.2m * 8mm DEEP (8) PLACES e TS
ol alal o 16 ~ ACCEPT M3.5 *6mm GROUNDING SCREW R
w el S| ¥ & = ! = e
o B &8 B 7 ~ 100 | £ =
miuy = < 16 ; —
A | £ =
73 r | - i %
— %
: T
mA 67.9 i C—=
27.1 ‘ 135.8 Cc-C

DIA 4.5mm * 8mm DEEP (2) PLACES

o W . ACCEPT M5 *10mm GROUNDING SCREW 228'481‘[?'
- L £ i i i [ : [ i 1J
| L i i
’ 4>2'5 e R Lﬂ"ﬂ ~— T
i © e L
JUR N oy } %

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com




ITEM NO DESCRIPTION ITEM NO DESCRIPTION ITEM NO DESCRIPTION
RND 455-00644 | Natural Aluminium Box (without the gasket) RND 455-00464 | Grey, IP67 RATING (with the silicon & Shielded gasket) RND 455-00606 | Light Grey, IP67 RATING (with the silicon gasket)
RND 455-00587 | IP67 RATING (with the silicon gasket) RND 455-00663 | Light Grey Aluminium Box (without the gasket) RND 455-00625 | Black, IP67 RATING (with the silicon gasket)
RND 455-00445 | [P67 RATING (with the silicon & Shielded gasket) RND 455-00682 | Black Aluminium Box (without the gasket)
LID 192
185.70 10 8
3.2 | 3.2
o nlu gt T
: - ’ - /l/
110 | 64 4 H7
DETAIL B-B DETAIL C-C
) ()
B S —
~ = 2.5
100 = [96X192K15 my B ‘:;
DN
o s
BR ol gl ol d 149.8 < g | &
159.8 2 Hlow
¢ xx 1 y
s i 29.9 L
DIA 3.2mm * 8mm DEEP
ACCEPT 45,5 "gaa m%m%ggv A ( @F o ( - 33
) ‘
J i = B
- 67.9 2%.6 - —
135.8
159.8
" 1> FOURM) M4 x 20mm (0.787" LG. SCREWS
*‘l 2.5 - v SUPPLIED FOR ASSEMBLY 0OF COVER TO BODY,
& e - o ‘ 2) ALL HOLE DIAMETERS HAVE *010mm TOLERANCE
N IT [T 1 [ 10 T I ALL OTHER DIMENSIONS HAVE *0.30 mm TOLERANCE
2 I R IS =N = =N
&7 * 174.8
BASE
192 8
187.00 M4#(Q.7 THREAD (6) PLACES i s
181.40 o
178.40 T 7w
4 J 7
172.80 1 %I%
o 1698 oq‘:b . @
X S . -
(2 ©F C%\ DETAIL A-A DETAIL B-B
i 7. @
B A A
5 96X192X30 om  24.6 J 48
. 156
ﬁ-»iﬂjB = DIA 3.2mm * 8mm DEEP (8) PLACES
2l <l gl gk 16 = ACCEPT M3.5 *6mm GROUNDING SCREW .
B Sasen]||| |, - - &
pinl < 3
= l\‘ o 8
|
 —
‘ £
“j‘
I 67.9 i c— =
27.1 ! 135.8 C-C
DIA 4.5mm * 8mm DEEP (2) PLACES 7.8
o W o ACCEPT M5 *10mn GROUNDING SCREW 28.4.' =
- L i\ o] 1] \“‘\ Hj
| LT i i
) 235 |G T Lm’m ST
Dl oo 11 ® e [
ItEN 174.8 % [INEE &

Distrelec Schweiz AG, Grabenstrasse 6,

8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



ITEM NO DESCRIPTION ITEM NO DESCRIPTION ITEM NO DESCRIPTION
RND 455-00645 | Natural Aluminium Box (without the gasket) RND 455-00465 | Grey, IP67 RATING (with the silicon gasket) RND 455-00607 | Light Grey, IP67 RATING (with the silicon gasket)
RND 455-00588 | IP67 RATING (with the silicon gasket) RND 455-00664 | Light Grey Aluminium Box (without the gasket) RND 455-00626 | Black, IP67 RATING (with the silicon gasket)
RND 45500446 | |P67 RATING (with the silicon & Shielded gasket) RND 455-00683 | Black Aluminium Box (without the gasket)

LID
274
267.9
264.9
259.3
256.3
252 20
D
0) ‘\\
i =E 5 Aogel LT,
34.9(& é 182.2 B ‘295
3232
Px))
242
DIA 3.2mm * 8m DEEP (8) PLACES , &
ACCEPT M3.5 #6mm GROUNDING SCREW % g
DETALL C-C
1> FOURC4) M4 x 20mm (0.787") LG. SCREWS
SUPPLIED FOR ASSEMBLY OF COVER TO BODY,
2) ALL HOLE DIAMETERS HAVE +0.10mm TOLERANCE
ALL OTHER DIMENSIONS HAVE +0.30 mm TOLERANCE
BASE
274
269.2 DIA 4.5mm * 8mm DEEP (4) PLACES
igg'g ACCEPT M5*10mm GROUNDING SCREW
- 12
o T I \ : :\
= — :
%\: 5 MR s m;ﬁ@ % Ei
s DIA 3.2 * Swn DEEP (12) PLACES 2
. ACCERT M3.5 *6mm GROUNDING SCREW
R 109 109 - = =
- =
ke 10,8 ‘ ‘ & 230.2 .9 &
Blaaafi 3 & — kil =
T 16 | o - -
4%4.9 ] - 182.2 ‘ 34.%* = =
:v—u\L %3 ]
= ! & |
P = \/&j j

= U

zs M4*0,7 THREAD (6) PLACES

DIA 4.5mm * 8mm DEEP (4) PLACES Lz
ACCEPT M5*10mm GROUNDING SCREW 28 9 f
DETAIL A-A DETAIL B-B DETAIL D-D

46

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



ITEM NO

DESCRIPTION ITEM NO

DESCRIPTION

RND 455-00646

Natural Aluminium Box (without the gasket)

RND 455-00466

Grey, IP67 RATING (with the silicon & Shielded gasket)

RND 455-00589

IP67 RATING (with the silicon gasket)

RND 455-00665

Light Grey Aluminium Box (without the gasket)

RND 455-00447

IP67 RATING (with the silicon & Shielded gasket)

RND 455-00684

Black Aluminium Box (without the gasket)

LID

274

267.9

264.9

259.3

256.3

252

173
L7L.2
166.9
163.9

1]
L1414

==}

o=
ngﬁ N

o

182.2

222.2

232

242

158.3

155.3
151

122.2
141

DIA 3.2mm *
ACCEPT M3.5

g

mm DEEP (8) PLACES
6mm GROUNDING SCREW

131

TR AL VS Ry Tl B A 1
UCAVLCAELT

20

ITEM NO DESCRIPTION

RND 455-00608 | Light Grey, IP67 RATING (with the silicon gasket)

RND 455-00627 | Black, IP67 RATING (with the silicon gasket)

|eo
[

156

—

M

A
:
i
T

=

T

102

[ 24.6

1.5

109

e <

DETAIL C-C

D FOUR(4) M4 x 20mm (0.787") LG. SCREWS

SUPPLIED FOR ASSEMBLY OF COVER 1O BODY,
2) ALL HOLE DIAMETERS HAVE +0.10mm TOLFRANCE
ALL DTHER DIMENSIONS HAVE +030 mn TOLERANCE
BASE
- DIA 4.5mm * 8mm DEEP (4) PLACES
56 ACCEPT M5*10mm GROUNDING SCREW
260.6
255 80
757
- 12
1 ! : b\ 3 3
@' iA Ai i i i =
ii gﬁﬂt 1735274380 ET?@ % =
[ DIA 3.2mm * 8mm DEEP (12) PLACES 25
“A B ACCEI%; M3.5 *6mm GROUNDING SCR'EWIOg L] - g
B r 1 e
1058 ‘ ; 2 230.2 -9 ?";.
S P el 6 & o= % =
T m - -
i = £ =
34.9 182.2 34.9]
S | 2 & |l
i =L-2)) ; =
T % =
: 31 1 e
o M4*0.7 THREAD (6) PLACES , 10
DIA 4.5mm * 8mm DEEP (4) PLACES 162 2
ACCEPT M5%10mm GROUNDING SCREW 28 f o 2
S ey ; H.s} R DETAIL A-4 DETAIL BB DETAIL DD
Q} r 1] ™ N 4’9
25 | e
257 G
I"ﬁ/ Il m \TH‘
TS L 1.5

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



ITEM NO DESCRIPTION ITEM NO DESCRIPTION ITEM NO DESCRIPTION
RND 455-00647 | Natural Aluminium Box (without the gasket) RND 455-00467 | Grey, IP67 RATING (with the silicon & Shielded gasket) RND 455-00609 | Light Grey, IP67 RATING (with the silicon gasket)
RND 455-00590 | IP67 RATING (with the silicon gasket) RND 455-00666 | Light Grey Aluminium Box (without the gasket) RND 455-00628 | Black, IP67 RATING (with the silicon gasket)

RND 455-00448 | |P67 RATING (with the silicon & Shielded gasket) RND 455-00685 | Black Aluminium Box (without the gasket)

LID 130 10 8
143.7
& 32 @ % | 3.2
140.7 = 7! N
135.1 o oo
132.1
121.8
DETAIL B-B DETAIL C-C
{0 1=
Ty
1G0KL50X15 mm == 23
S Teellc ‘ IE
— | == 3
alal = = | = = 117.8 o
S 2 o e v N = = =
oy & oo| 00| ~| O - 98 o
~ DIA 3.2 * Sm DEEP (4) FLACES @?’
ACCEPT M3.5 *6mn GROUNDING SCREW /
$yf o8 ° — 2#
] B s [P
W ‘ 93.9 —
« A A
+ HL$<L5
e L 1 v = T T 1) FOURC4) M4 x 20mm (0.787") LG. SCREWS
‘L‘Ht } L s J k K { Ja J | SUPPLIED FOR ASSEMBLY OF COVER TO BODY,
— — 2) ALL HOLE DIAMETERS HAVE 20.10mm TOLERANCE
"13’/' 8 ALL OTHER DIMENSIONS HAVE +0.30 mm TOLERANCE
BASE
150
145
139.4
136.4
130.8
127.8
‘ 93.9 N
N 100X 50X35 mm :¢ |
& $
DIA 3.2om * (8mm DEEP (6)
63.9 ACCEPT M3.5 |6 GROUNDING SCREW
EER PR S p
1 i
RE k= G

%
%‘/\
A C

DIA 4.5mm * 8mm DEEP (4) PLACES

. ACCEPT M5*10mm GROUNDING SCREW \e
J 7l TT= 28 k0.7 THREAD (4) PLACES &

*"‘ﬁ% Si= ) i e
o I | s O TR N & T
o [ e il DETAIL A-A DETAIL B-B
P st e — &

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



ITEM NO DESCRIPTION ITEM NO DESCRIPTION ITEM NO DESCRIPTION
RND 455-00648 | Natural Aluminium Box (without the gasket) RND 455-00468 |  Grey, IP67 RATING (with the silicon & Shielded gasket) RND 455-00610 |  Light Grey, IP67 RATING (with the silicon gasket)
RND 455-00591 | IP67 RATING (with the silicon gasket) RND 455-00667 | Light Grey Aluminium Box (without the gasket) RND 455-00629 | Black, IP67 RATING (with the silicon gasket)
RND 455-00449 | IP67 RATING (with the silicon & Shielded gasket) RND 455-00686 | Black Aluminium Box (without the gasket)

LID 150 10 8
143.7 & 52 & ‘F\—vﬁ
140.7 1 } |
135.1 o o
132.1 r
127.8
DETAIL B-B DETAIL C-C
ji 2.5
100X150X1S mn =
10| - I
- scl||c T,
— | = 37
alg| S| ] e = 117.8 ®
88 g5 dd s o ®
§ DIA 3.2m * Sum DERP (4) PLACES Y
ACCEPT M3.5 *6mm wm SCrEW /
v = B
$/ 1 9#
L] B 1.5
—= ]
W ‘ 93.9 -
“ A A
; HL» 2.5
= — — — 1D FOURM) M4 x 20mm €0.787") LG SCREWS
wgt"’}—‘rb L ] A EN |1 J | SUPPLIED FOR ASSEMBLY OF COVER IO BODY.
~ 2 LN ) 2) ALL HOLE DIAMETERS HAVE #0.10mm TOLERANCE
Eoyl ALL OTHER DIMENSIONS HAVE 030 mm TOLERANCE
132.8
BASE
150
145
139.4
136.4
130.8
127.8
\A ‘ A 93.9 H
| ~
"\, 100K 5ORS0 J :t &
® iy
DIA 3.2mm * |Bmm DEEP (6)
ACCEPT M3.5 |*6mm GROUND,
63.9
88 %2 o oo 3 30
[aa]
Bl
b @)
ey o ﬂ
DIA 4.5mn * 8wm DEEP (4) FLACES
* {“L ACCEPT M5*10mm GROUNDING SCREW
60
w v ]
061 s
M4*(),7 THREAD (4) PLACES & 3.2
_NLr
2 %
7.5
Y 5 *
i L DETAIL A-A DETAIL B-B
o NN
I f

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com




DESCRIPTION ITEM NO DESCRIPTION

ITEM NO DESCRIPTION ITEM NO
RND 455-00651 | Natural Aluminium Box (without the gasket) RND 455-00471 | Grey, IP67 RATING (with the silicon & Shielded gasket) RND 455-00613 | Light Grey, IP67 RATING (with the silicon gasket)
RND 45500594 | IP67 RATING (with the silicon gasket) RND 455-00670 | Light Grey Aluminium Box (without the gasket) RND 455-00632 | Black, IP67 RATING (with the silicon gasket)
RND 455-00689 | Black Aluminium Box (without the gasket)

RND 455-00452 | [P67 RATING (with the silicon & Shielded gasket)

LID
- P00nm_[7.874in | -
4 179.32mm  [7.060in ] - SIXEIMAX20 mm
FLAT HEAD SCREWS
7§mm [2.835in] . 72mm [2.835in] 148mm [5.827in ]
- 2N Ve
5 ‘o) ?(/ ‘ ﬁ@u‘ ‘wu ‘U@E\
Iz N
| |
~
PODXISOX14 i ]
=l s —
5 2% &
I e ) 2
o
EE & :
ek o 5
9 %M‘\ o
~ o I
<lglg|s lig I
& ’ e A\ o E
Ra— ® ) ‘ EEES
e A
BEEE
==~
s i
BASE ] 11y
SECTION A-A
200mm  [7.874in ]
179.32mm_ [7.060in ] —
— 7emm  [2.835in] . 72mm [8835%}1‘ _ 167.80mm  [6.606in ] _
B |
/“/J;K ﬁiﬁ & ‘ 7 9 @ 9 ~
e ~
9f le fo] [0)
B 200X150X14 nm
‘ el e < <
167.80mm  [6.606in | § % =k @ %
SRR =
= = £ & = = £
BN =
B & o B 5 & @
“Ebnk :
o 0]
S -
= | 23S ‘
i3 322
El g =
| | =
C
. 27.83nm [L096in ] 1 Y
| 23:86rm [0.93%n | A (@fﬂ
SECTION B-B
] <
SRS
§ £ g‘ 1) FOURM) M4 x 20mm (0.787") LG. SCREWS
n| ¢ SUPPLIED FOR ASSEMBLY OF COVER TO BODY,
Bl 2) ALL HOLE DIAMETERS HAVE +0.10mm TOLERANCE
1 ALL OTHER DIMENSIONS HAVE %0.30 mm TOLERANCE
1?: SECTION C
SECTION 2 ¢+ 1

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com




ITEM NO DESCRIPTION ITEM NO DESCRIPTION ITEM NO DESCRIPTION

RND 455-00649 | Natural Aluminium Box (without the gasket) RND 455-00469 | Grey, IP67 RATING (with the silicon & Shielded gasket) RND 455-00611 | Light Grey, IP67 RATING (with the silicon gasket)

RND 455-00592 | 1P67 RATING (with the silicon gasket) RND 455-00668 | Light Grey Aluminium Box (without the gasket) RND 455-00630 | Black, IP67 RATING (with the silicon gasket)

RND 455-00450 | IP67 RATING (with the silicon & Shielded gasket) RND 455-00687 | Black Aluminium Box (without the gasket)

10 3.2 g _ 32
LID 200 «&W W
193.7 i
7
182.1 ;
778 DETAIL B-B DETAIL C-C
‘ 72 ‘
/é/\ ==
-+
© Et T§§1 200X156X15 1m Q =
10| | | A
.~ C C
100
~| ~|—| —| oo| a0 o0
bl R & 2
o\ DIA 3.2mm * Smm DEEP (6) PLACES
/ AQCEPT M3.5 *6mm GROUNDING| SCREW
e 0 ~dI, SiE
] T e £
A A —
jK 2.5
.,j ‘ w i T 1) FOURM) M4 x 20mm (0.787") LG, SCREWS
3[31 ) L J-4 J { A J { - J‘ SUPPLIED FOR ASSEMBLY 0OF COVER TO BODY,
2) ALL HOLE DIAMETERS HAVE £0.10mm TOLERANCE
r:( & ALL OTHER DIMENSIONS HAVE 030 mm TOLERANCE
— 182.8
BASE
200
195
189.4
186.4
180.8
177.8
) 72 ) 72
@ m \C =
= = — ff ;L,,,\ //?///4/‘////////////7/////{;%
“\ '—‘¢ — p 200X150%35 mn J:::
10
=~ - 164 8L
iw DIA 3.2mm * 8mm DEEP (8) PLACES
i ACCEPT M3.5 *6mm GROUNDING SCREW
X ] A =
~| = o0| 00 - — =
H2%aeass||[E—) 10 7 = = =
. 3 o
= o =
Hidllls
B N N
e = g S —
o Zé
’A A c c-C
35
\QK o DIA 4.5mn * 8mm DEEP (4) PLACES 2.8 )8
g ACCEPT M5*10mm GROUNDING SCREW j E;ﬁ 3.2
q—i ] I ] I M4#(,7 THREAD (6) PLACES -
I J ———) o A
t n n
5 o - 0B
1 & [B——)
oo DETAIL A-A DETAIL B-B
P 182.8

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com




ITEM NO DESCRIPTION ITEM NO DESCRIPTION ITEM NO DESCRIPTION
RND 455-00650 | Natural Aluminium Box (without the gasket) RND 455-00470 |  Grey, IP67 RATING (with the silicon & Shielded gasket) RND 455-00612 | Light Grey, IP67 RATING (with the silicon gasket)
RND 455-00593 | IP67 RATING (with the silicon gasket) RND 455-00669 | Light Grey Aluminium Box (without the gasket) RND 455-00631 | Black, IP67 RATING (with the silicon gasket)
RND 455-00451 | |P67 RATING (with the silicon & Shielded gasket) RND 455-00688 | Black Aluminium Box (without the gasket)

LID
15207 £ W
. e
190.7 ”E
185.1 X
182.1 )
DETAIL A-A - DETAIL C-C
177.8 DETAIL B-B
‘ 72
E 1 éb 1 200X150K15 mm Q Ej‘
L -
c|c
100
O~ O —| —| 0OIC0
BN R oo e~ =N x
e S R i 148 o
%\} DIA 3.2mm * 8mm DEEP (6) PLACES
/ ACCEPT|M3.5 *6mm GROUNDING SCREW
2 g S
ﬁ /:\/ x \/\/@ 4»8 - ":Q,) =1
|
A It 115
ln_k 2.5
‘+4[ 1) FOURM) M4 20 (0.787") LG, SCREWS
L 1] LT
2L ._<¢ ‘ { | = = SUPPLIED FOR ASSEMBLY OF COVER TO BODY,
i @ 2) ALL HOLE DIAMETERS HAVE #0.10mm TOLERANCE
'ﬂ( '—:( 182.8 N ALL OTHER DIMENSIONS HAVE *+0.30 mm TOLERANCE
BASE
200
195
189.4
186.4
180.8
177.8
‘ 72 72 |
! N ~ =
) S‘ }7 X080 450 m By E:
L0\ oo 164 181
ES‘“ DIA 3,20 * Sun DEEP (8) Ml
| ACCEPT 13.5 "6am GRLNDDNG S(RER
T
= b | = i
o 1 o | | 92 %2 B < 100 "~ N - b
RSB Iagds|| e = | = =[S &
o' ©0 Lr* .
< P | =) =
- in @
0 8
5 i) ,
5 =
s ‘A — 8.5 ||
DIA 4.5mm * 8mm DEEP (4) PLACES 60
. ACCEPT M5*1 GROUNDING SCREW
wy 'al
QO'L \ /K f& M4#Q.7 THREAD (6} PLACES » 3.2
Eas 5 2
ks 0o
1)
38 P 8
2 .
| | DETAIL A- DETATL B-B
oS 7} :\ oo‘ i
!
I J'Sr 182.8

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



DESCRIPTION ITEM NO DESCRIPTION

ITEM NO DESCRIPTION ITEM NO
RND 455-00652 | Natural Aluminium Box (without the gasket) RND 455-00472 | Grey, IP67 RATING (with the silicon & Shielded gasket) RND 45500614 | Light Grey, IP67 RATING (with the silicon gasket)
RND 45500595 | IP67 RATING (with the silicon gasket) RND 455-00671 | - Light Grey Aluminium Box (without the gasket) RND 455-00633 | Black, IP67 RATING (with the silicon gasket)
RND 455-00690 | Black Aluminium Box (without the gasket)

RND 455-00453 | |P67 RATING (with the silicon & Shielded gasket)

LID
130 51181
Mémm b%;h % = FOURMA) MAX20 mm
nn__14.96/in FLAT HEAD SCREWS
112mm  [4.409in ]
90nn_ [3543in | 70.09mm [2.759in]
A -
rovi V.
——— % SECTION C-C
~|5l3 ﬁ 2
O —| —
NEICRICR) <
e =il SN RG] L = -
o 3 L L3 2SS =
)7y = , I e
! 5| £ &)= “
[qul] |
I B } =N
‘ ‘ ‘ Lﬁ“ If@ SECTION D-D
ERN SECTION A-A
BASE
- 130mm  [SU8in ]
116nm  [4567in ] - 15mn[0.551in]
112mm [4.4091N ] - Smm [0.197in]
90mm  [3.543in | 8mm [0.315in]
83.15mm [3874%} /9mm [8953m J — 2.50mm [0‘098“@}
- — <—B
SR , = | ’fity
+ b QJ = “
& -
1+ M < é = = e
< Tele |
3 N SR
= < || =Bl
£ ? Slgl gl g] £
% D =| ===
o ——
&
D —H \V/ ‘
=T |
| [ (S ! :
«B
C C SECTION B-B
e 30mm [1181in ]
25mm [0.984in]
E
°] — e 3rM [0.118in ]
\ - 1.50mm  [0.059in ]
@ D FOUR4) M4 x 20mm (0.787") LG. SCREWS
SUPPLIED FOR ASSEMBLY [OF COVER TO BODY,
2) ALL HOLE DIAMETERS HAVE £0.10mm TOLERANCE
ALL OTHER DIMENSIONS HAVE +0.30 mm TOLERANCE
0079
[ 0.118in

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



ITEM NO DESCRIPTION ITEM NO DESCRIPTION ITEM NO DESCRIPTION
RND 45500653 | Natural Aluminium Box (without the gasket) RND 455-00473 | Grey, IP67 RATING (with the silicon & Shielded gasket) RND 455-00615 |  Light Grey, IP67 RATING (with the silicon gasket)
RND 455-00596 | IP67 RATING (with the silicon gasket) RND 455-00672 | Light Grey Aluminium Box (without the gasket) RND 455-00634 | Black, IP67 RATING (with the silicon gasket)
RND 45500454 | IP67 RATING (with the silicon & Shielded gasket) RND 455-00691 | Black Aluminium Box (without the gasket)
LID 130mm [5.018in ] -
Lémn  [4567in | FOURC4A) MAXP0 mm
Nomn  [4.4090 | FLAT HEAD SCREWS
90mm  [3.543in |
70.09mm [2,759in ]
1 Iy ﬁ; |
- o
N R <
<l |l < A A §
S51% ; P
— O — | O [
o OO
5 %
o ol £ £ [ON
2 = EEEE S
S8 e = ||| I =
N J “ v % % % g @
& " B EEE R
D S| — I
BASE QUIRY
1 . ‘
= IF=1
| i SECTION A-A
_130mn_ [5.118in ]
16mm  [4.567in | ‘
112mm  [4.409in | —_ 40mm[1575‘m]
. 90mm_ [3.543in | Bmm 0. 315@}
75mn_ [2.953in | | — Smm[0.197in]
. — . 8141 [3205in] ‘ _2.50nn [0.098in]
D 7 A S 1 S
T \ + =
. D .
(% o
D (€ — ] + -+ 77 —
SIS S =S
5 SIRIEEIR =
5 £3|| = w)) =
3 Elelegl gl 2 £
lalalss 5
. Crs—1 | Hi &
N
=t UJC)lW =G v + ul
% \§ ‘ 7
C c — B
SECTION B-B
59mm[2.165in]
S0gn [1.963in
o<
(IR
° e g =
£| £ 1) FOURM) M4 x 20mm (0.787") LG, SCREWS
E - = SUPPLIED FOR ASSEMBLY OF COVER TO BODY,

2) ALL HOLE DIAMETERS HAVE *0.10mm TOLERANCE
ALL OTHER DIMENSIONS HAVE £0.30 mm TOLERANCE

—

Al

seetion e b b seeion oo

L8

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com




ITEM NO DESCRIPTION ITEM NO DESCRIPTION ITEM NO DESCRIPTION
RND 455-00654 | Natural Aluminium Box (without the gasket) RND 455-00474 |  Grey, IP67 RATING (with the silicon & Shielded gasket) RND 455-00616 | Light Grey, IP67 RATING (with the silicon gasket)
RND 455-00597 | |P67 RATING (with the silicon gasket) RND 455-00673 | Light Grey Aluminium Box (without the gasket) RND 455-00635 | Black, IP67 RATING (with the silicon gasket)
RND 455-00455 | IP67 RATING (with the silicon & Shielded gasket) RND 455-00692 | Black Aluminium Box (without the gasket)
LID |
120.09mm  [4728in] _ 13L4imm  [S174in ] _
A
2 3 | A =~ T
- S
[®) E)
W E + T —
@ <
[qu] <
A A =
% P 5
£
| T —— b £
| £ <l < =N =
=| 7| 2| & S =
B = 8|2 o =
SIS 5 .
| ©)
£ €| £ & H
EEEE JA /.
od| oy
(] =0
L1 SECTION A-A
BASE
180mm  [7.087in ] - 180nn__[7.087in | -
| = 166mm  [6.535in
— leemm  [6.378in -— FLAT HEAD SCREWS — il 2 /81N —
140mm  [5.512in -— - 140mnm  [5.512In ] -—
E | ~— I
-
- I il
#’ | ‘ b I
2 |
g e Z 124mm  [4.882in ] E(% EEEE
S . 5 B|8|5|5(B 1S
& B oS ™ \ = < | R[22 =
~ <~| 15| wl8l= = ) 2 | |10 0] 0| )
g B N z =
= & s
3 SISIREINAS = | M| I |20 2
o f A
! J ; L A 1
S 'y, 1y
5 |
[
55mm[2.165in] - o 40 [1575in ]
— - _ 8.90mm [[0‘3351%}
R 8mm_ [0.315in
S0mm[1.969i =
e . 250mm_ [0.098in |
a
%u = %r‘ o
<
f é 5
23 1> FOURM) M4 x 20mm (0.787") LG, SCREWS
— SUPPLIED FOR ASSEMBLY OF COVER TO BODY
2) ALL HOLE DIAMETERS HAVE *0.10mm TOLERANCE
£ ALL OTHER DIMENSIONS HAVE +0.30 mm TOLERANCE
(o0}
%ﬁ SECTION €-C

SECTION B-B

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com




ITEM NO DESCRIPTION ITEM NO DESCRIPTION ITEM NO DESCRIPTION
RND 455-00655 | Natural Aluminium Box (without the gasket) RND 455-00475 | Grey, IP67 RATING (with the silicon & Shielded gasket) RND 455-00617 | Light Grey, IP67 RATING (with the silicon gasket)
RND 455-00598 | IP67 RATING (with the silicon gasket) RND 455-00674 |  Light Grey Aluminium Box (without the gasket) RND 455-00636 | Black, IP67 RATING (with the silicon gasket)
RND 455-00456 | IP67 RATING (with the silicon & Shielded gasket) RND 455-00693 |  Black Aluminium Box (without the gasket)
LID 180mm__ [7.087in | — SIX(E) MAX20 mm
166mn [6.535in | FLAT HEAD SCREWS
162mn [6.378in | -—
- 140mm  [5.51Pin ] o 120.09mn [4.728in ]
i1 A “
il |
1 rui iI®
<
| ] — | — A L
Sl gl sl e A ~
= [l S5 22 ‘ ‘ -
= | Wl wo |~
%3 (] [ R ] =
= =
;ﬂ | £ £| £| £ ——— g
: Sl & &5 S < &lsl < <
SEEEE 72818 T
° f 22== [©)
LY EEE I
1y =
° ! | o
BASE | — -
| i
| 1 _
. 180 [7087in] SELTI A
- 166mn [6535in]
- 162mm - [6.378in ]
- 140mm_ [5.512in | 129.66mm [5105n ]
| B
- “ \ ‘
I A=
— 1P4mn [4882In ] g N T T <
= ol<glclele &
e g Bl oM RS w
< = ~| @D M| S
— 2 M| <+ || O~
= — £
S B
= o T8 B U
2 REne H LY
a N =
| [ ‘ it
‘ 2) |
!
80mm [3.150in] - - 65mm [2.559in]
- — — 8mm [0.315in ]
75mm[2.953in] . 8.50mm [0.335in]
| C:o0mn [0.098in ]
¢ B —
<
b Ip)
1%
= 1D FOURM) M4 x 20mm (0.787"> LG, SCREWS
= SUPPLIED FOR ASSEMBLY 0OF COVER TO BODY,
£ 2) ALL HOLE DIAMETERS HAVE *010mm TOLERANCE
*© ALL OTHER DIMENSIONS HAVE #0.30 mm TOLERANCE
!
[ \
W SECTION C-C
SECTION B-B

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



ITEM NO DESCRIPTION ITEM NO DESCRIPTION ITEM NO DESCRIPTION
RND 455-00656 | Natural Aluminium Box (without the gasket) RND 455-00476 |  Grey, IP67 RATING (with the silicon & Shielded gasket) RND 455-00618 |  Light Grey, IP67 RATING (with the silicon gasket)
RND 455-00599 | IP67 RATING (with the silicon gasket) RND 455-00675 |  Light Grey Aluminium Box (without the gasket) RND 455-00637 | Black, IP67 RATING (with the silicon gasket)

RND 455-00457

IP67 RATING (with the silicon & Shielded gasket)

RND 455-00694

Black Aluminium Box (without the gasket)

LID
- 160 [6,299in ] o
- 46nn [5.748in ] — | SIX(E) MAX2O nnm ‘
= 142nn [559n ] || [FLAT HEAD SCREWS 10005 [394tin]
120mm  [4.724in ] A
(1! T il Z
A | &
i i
SIS S| < £ &
Ol D=2 0 =
S| NSO ™
e IS 0
N EEElEE £
g IS S
& 3
2 I Imm [0.03%in ]
! 16 2.50nn [0.098in ]
o] L ) B ' |
I Of | : "@ il . 12.50mm [0.492in ]
\ - R{jENj _ 15mm [0.591in ]
1 Gl -
—
BASE SECTION A-A
160nn [6.299in ] 40me [1575im]
4 146mm  [5.748in - ——— v
—  i2nn [5590n = 111.41mm[4.386in] - 85%% %%1355‘”%
i D3 | | 120mn [4.724in ] — — - =850 mm[0‘098“n}
i 1 ‘ﬂ@# X % I Mmm . N
iimi “ ‘ “ g& ‘ + ‘ ‘R “ =
I h I =
iz 3 P
|
104mm  [4.094in | O =
s R ~
SElEREE -
1) 10)58) = ~| ) 0
N\ £
A\’ ) £l €|l € —
& 2l HEZ S5 =
Qﬁ\ﬁ\ g | =4 = S ad|od|ca e
e 3
° 1
% N “ ‘ Rl
B e o — = |
1, ) :
v n
‘ SECTION B-B
59mm[2.165in]
50mm[1.969in]
— ) T —|
<
Ie=——r s
k = 1) FOURM4) M4 x 20mm (0.787" LG. SCREWS
SUPPLIED. FOR ASSEMBLY OF COVER 10 BODY.
% 2> ALL HOLE DIAMETERS HAVE £010mm TOLERANCE
& ALL DTHER DIMENSIONS HAVE 0.30 mm TOLERANCE
il )
SECTION C-C

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com




DESCRIPTION ITEM NO DESCRIPTION ITEM NO DESCRIPTION
Natural Aluminium Box (without the gasket) RND 455-00477 | Grey, IP67 RATING (with the silicon & Shielded gasket) RND 45500619 | Light Grey, IP67 RATING (with the silicon gasket)
IP67 RATING (with the silicon gasket) RND 455-00676 | Light Grey Aluminium Box (without the gasket) RND 45500638 | Black, IP67 RATING (with the silicon gasket)
IP67 RATING (with the silicon & Shielded gasket) | [RND455-00695 | Black Aluminium Box (without the gasket)

LID
— TTami sy = SIX(E) M4XRO
4 l46mn  [5.748n] mn
. 42m [559ln] || /FLAT HEAD SEREWS 10009 [3941in]
120mm *,4‘784%, [ — i . —
w [ =i <l
g I e
. o
S5 <l £ S
|20 N
SO —|\D —
il R RS54 ASS/
= £
2 S| D= =
5 SIS 3
1 & 1 [0.0390n]
| - L 2.50mm [0.098in]
1y @ SiipAl 7 12.50mm [0.4920n]
¢ ! A — . 15mn[0591n |
——
BASE SECTION A-A
4 160mm  16.299INn - 65mm [2.559in]
— 146nm [5.748in _ — 8.50mm [0.335in]
. 14emm [5591in _ ‘ - 8rmm [0.315in]
— -~ I | to0m (4708 ] B 109.66mn [4.317in] % 50mn [0098in]
- : - . E
; Y “ s 5
I[F Y=t il
dE 1 | ’ el =
" T Bl T
| 104mm [4.094in ]
o<l << < <
==~ Sl= %
o LB =18 0
58|~ =] 5] =5 =
% sl g £l £] £ g
N || | £| £ é
el [IEEEEEE =2
: ©
(E V
=l Y !
S ! :
| ‘
SECTION B-B
- o, 80mn [3.150in ]
— o /0 [2.953in]
)
(A [IpInip]
(k!
=S D FOURM) M4 x 20mn (0.787") LG. SCREWS
| £ SUPPLIED FOR ASSEMBLY OF COVER TO BODY,
= 2) ALL HOLE DIAMETERS HAVE +0.10mm TOLERANCE
ALL DTHER DIMENSIONS HAVE 030 mn TOLERANCE
¥
=S SECTION C-C

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



DESCRIPTION ITEM NO DESCRIPTION ITEM NO DESCRIPTION
Natural Aluminium Box (without the gasket) RND 455-00478 |  Grey, IP67 RATING (with the silicon & Shielded gasket) RND 455-00620 | Light Grey, IP67 RATING (with the silicon gasket)
IP67 RATING (with the silicon gasket) RND 455-00677 |  Light Grey Aluminium Box (without the gasket) RND 455-00639 | Black, IP67 RATING (with the silicon gasket)
IP67 RATING (with the silicon & Shielded gasket) RND 455-00696 | Black Aluminium Box (without the gasket)
LID 200Mm [7 874in } EIGHT(8) M4x20 mm
— Pavvay FLAT HEAD SCREWS
186mm__ [7.323in ]
182nn [ 7.169in | 140.09mn [5.515in ]
160mm 16,299 | — —
FA
’_v “ “ ‘ ‘HHL
RS - ‘ Oj :'o “
< | <
S R
S= ———— .
< - <
o~ Sl s S
= < | DM~ N
£ SRR A =
“ “ O ¥ Slel el £ i £
o o | £ & an
N < | cdlwo| S =
= [QUIRNSIN1NeS] — ——— =
© Ul IUINeY| U
= | £l € U
i — | Cd|co| O
3 aN| ON O OD
= D S |ol &
!' o o S ‘CSHC)‘S 0: io v
L v ‘ v £ | £ £
b 1 5855
— | Ny
11" - <
BASE YN SECTION A-A
SCALE 1+ 3
L 200nm  [7874in] — 40 [1,575in ]
 18mm [7323n] | S5 | | 850m [0335n]
182nn_[7165in ] = S 8nm [0.315in ]
160nn__|6.299in | 2 151.41mm [5.961in] _<250mm [0.098in]
— B = — - LA
gy o “ N % ||
N M o “ “ “ (g:‘ H‘er “ 2
£I15 % el A 1+ +[f -
B e 143nn_ [5.630in ] |
~ |~ T N P
ol < —
S~ £S5 €
i i il 1] 9 >
o £
£ NS £
8 cdjculw| | =
= adjadjcg s
=) (99}
] [qu]
1 !
S + ||
! f: 4 ! | E )
= v “ i B B
!
SECTION B-B
SCALE 1+ 3
. 55mm[2.165in]
| 50mm[L969in]
= EE
o 2 [Iipliip)
’ﬁg Sikse! 1D FOURM) M4 x 20mm (0.787"> LG, SCREWS
2|12 SUPPLIED FOR ASSEMBLY OF COVER TO BODY,
2) ALL HOLE DIAMETERS HAVE *010mm TOLERANCE
£l E ALL OTHER DIMENSIONS HAVE #0.30 mm TOLERANCE
O o
[ 5
!
secrion c-c b A
SCALE 1+ 3

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Néanikon, Switzerland

, T+41 44944 99 11, info@distrelec.com, distrelec.com



ITEM NO DESCRIPTION ITEM NO DESCRIPTION ITEM NO DESCRIPTION
RND 455-00659 | Natural Aluminium Box (without the gasket) RND 455-00479 |  Grey, IP67 RATING (with the silicon & Shielded gasket) RND 455-00621 |  Light Grey, IP67 RATING (with the silicon gasket)
RND 455-00602 | IP67 RATING (with the silicon gasket) RND 455-00678 | - Light Grey Aluminium Box (without the gasket) RND 455-00640 | Black, IP67 RATING (with the silicon gasket)
RND 455-00460 | IP67 RATING (with the silicon & Shielded gasket) RND 455-00697 | Black Aluminium Box (without the gasket)
LID . 200nn [7874in] _ EIGHT(®) M4X20 mn
— 186mm  [7.323In | - FLAT HEAD SCREWS
182mn_ [7.165in ] 140.09mm [3.515in]
160mm [6.°799in | - -
‘o \ ﬂ\r
<|l< ) | & = |
~ | <
SEI R
S —
o -
£ £ & £| 5 < A N
i 353 I Ly =
e S Dol = £
W 282 f T .
xR Slelegl e a~
o o| £ £ & =
5 |yl ol —| | —|—| =
8 QUIRNGING]kee! o Y Y o
= Ul djcd —|culcxo| o o
ON OO LD
3 D= |22
\ ‘ ‘ ol|=le /| I
L« oo ‘FEER.: >
= V V v el = i) = Ll
ol ad] =
1
Wl I
Ll SECTION A-A
BASE SCALE T:3
- 200 [7874n] - g - - 75mm [2.953in]
186mm  [7.323in ] 2 L 8.50mm [0.335in]
182nn_ [7165in ] I S 8nm [0.315in ]
160mm_ [6.299in ] 1 . ‘ 098i
7 . 148.96mm [5.865ir] <2500 (0098
— £ ‘ug B —
43 WL i N
- m e ==11lIK TEnE.
I= [ 143mm_ [5.630in ] ]] O
SE gl < )
| = S3|2Y T E
58 e e =
—| = I v _ Pl Pl b / L 2 @)
& & £ 3 +H |
! P Eg e € N
N QIS o] oS £
2 ad|cu| w| | o
= SUIRSN]NSN] o
n [es]
3 U
a QU]
1. a1 il
& e ! o 2 1
1) 1 : =)
C C S
B SECTION B-B
SCALE 1:3
- o, 90mm_ [3.543in ]
L 85mm  [3.346in |
SRS
S =
° e o 1> FOURM) M4 x 20mm (0.787"> LG, SCREWS
o = —— SUPPLIED FOR ASSEMBLY OF COVER TO BODY,
2> ALL HOLE DIAMETERS HAVE +0.10mm TOLERANCE
£ £ ALL OTHER DIMENSIONS HAVE *+0.30 mm TOLERANCE
Co| o
[
|
ut —
SECTION C-C I |
SCALE 143

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



IP65 & IP66 Die-Cast Aluminium Enclosures

PRODUCT INFORMATION

Material: Aluminium alloy ADC-12 to Japan (JIS)
Finish: Natural aluminium colour.

Tapped holes on the body to seize the cover easily.
M3.5 countersunk stainless screws are included to
seize the cover and the body,.

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Néanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



Without seal

ITEM No. Colour ITEM No. Colour ITEM No. Colour EXTERNAL DIMENSION(mm)
RND 455-00698 Aluminium  RND 455-00728 Light Grey RND 455-00758 Black 222 x 146 x 55
RND 455-00699 Aluminium  RND 455-00729 Light Grey RND 455-00759 Black 114 x 64 x 30
RND 455-00700 Aluminium  RND 455-00730 Light Grey RND 455-00760 Black 114 x 64 x 55
RND 455-00701  Aluminium  RND 455-00731 Light Grey RND 455-00761 Black 222 x 146 x 106
RND 455-00702 Aluminium  RND 455-00732 Light Grey RND 455-00762 Black 275 x 175 x 65
RND 455-00703 Aluminium  RND 455-00733 Light Grey RND 455-00763 Black 250 x 250 x 100
RND 455-00704 Aluminium  RND 455-00734 Light Grey RND 455-00764 Black 120 x 100 x 35
RND 455-00705 Aluminium  RND 455-00735 Light Grey RND 455-00765 Black 114 x 89 x 55
RND 455-00706 Aluminium  RND 455-00736 Light Grey RND 455-00766 Black 171 x121 x 55
RND 455-00707 Aluminium RND 455-00737 Light Grey RND 455-00767 Black 140 x 100 x 75
RND 455-00708 Aluminium RND 455-00738 Light Grey RND 455-00768 Black 80 x55x 25
RND 455-00709 Aluminium  RND 455-00739 Light Grey RND 455-00769 Black 165 x 127 x 75
RND 455-00710 Aluminium  RND 455-00740 Light Grey RND 455-00770 Black 60 x 55 x 30
RND 455-00711  Aluminium  RND 455-00741 Light Grey RND 455-00771 Black 89 x35x 25
RND 455-00712 Aluminium  RND 455-00742 Light Grey RND 455-00772 Black 171 x 121 x 106
With seal
ITEM No. Colour ITEM No. Colour ITEM No. Colour EXTERNAL DIMENSION(mm)
RND 455-00713  Aluminium  RND 455-00743 Light Grey RND 455-00773 Black 222 x 146 x 55
RND 455-00714 Aluminium  RND 455-00744 Light Grey RND 455-00774 Black 114 x 64 x 30
RND 455-00715 Aluminium  RND 455-00745 Light Grey RND 455-00775 Black 114 x 64 x 55
RND 455-00716  Aluminium  RND 455-00746 Light Grey RND 455-00776 Black 222 x 146 x 106
RND 455-00717 Aluminium  RND 455-00747 Light Grey RND 455-00777 Black 275 x 175 x 65
RND 455-00718 Aluminium  RND 455-00748 Light Grey RND 455-00778 Black 250 x 250 x 100
RND 455-00719  Aluminium  RND 455-00749 Light Grey RND 455-00779 Black 120 x 100 x 35
RND 455-00720 Aluminium  RND 455-00750 Light Grey RND 455-00780 Black 114 x 89 x 55
RND 455-00721 Aluminium  RND 455-00751 Light Grey RND 455-00781 Black 171 x 121 x 55
RND 455-00722 Aluminium  RND 455-00752 Light Grey RND 455-00782 Black 140 x 100 x 75
RND 455-00723 Aluminium  RND 455-00753 Light Grey RND 455-00783 Black 80 x 55 x 25
RND 455-00724 Aluminium  RND 455-00754 Light Grey RND 455-00784 Black 165 x 127 x 75
RND 455-00725 Aluminium  RND 455-00755 Light Grey RND 455-00785 Black 60 x 55 x 30
RND 455-00726 Aluminium  RND 455-00756 Light Grey RND 455-00786 Black 89 x35x 25
RND 455-00727 Aluminium  RND 455-00757 Light Grey RND 455-00787 Black 171 x 121 x 106

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com




Le
H
+I><
")
H1 ’@/@ L1 <
=y —
_i & g
|
|
|
4 |
i AN ) S | o — (]
| O = =
|
|
|
|
___________ -
(. J
\J
C3
C1
Part No. L w H c1 c2 L1 L2 w1 w2 Cc3 H1
RND 455-00706 / RND 455-00721| 171.9 | 120.9 | 55.0 160.4 | 109.3 | 153.9 | 168.1 | 102.9 | 117.0 | 80.3 49.0
RND 455-00712 / RND 455-00727| 171.9 120.9 106.0 160.4 | 109.3 153.8 168.0 102.8 116.9 80.3 100.1
RND 455-00698 / RND 455-00713| 222.1 145.9 55.9 211.7 | 135.4 205.0 | 218.7 | 129.0 141.8 | 105.8 49.2
RND 455-00701 / RND 455-00716| 222.2 146.0 106.5 211.7 | 135.4 205.1 218.9 129.1 141.8 105.8 100.1
L
H L2 "
(,)+
H1 - , L1 N
rRe | || %
L;f‘____ / 4 ! ! K|
o o) &
|
| o 1
4 | O 3 3 =
= | (= |
N o) (o
\_—————) | 7
C1
Part No. L w H c1 Cc2 L1 L2 w1 w2 H1
RND 455-00711 / RND 455-00726| 89.1 | 35.0 30.3 793 | 25.3 72.8 85.9 18.7 | 31.9 24.8
RND 455-00699 / RND 455-00714| 114.5 63.6 30.3 104.5 54.2 98.3 111.5 47.7 60.9 24.7
RND 455-00705 / RND 455-00720| 114.7 89.7 55.1 104.4 79.6 98.4 111.5 73.0 86.2 49.3
RND 455-00700 / RND 455-00715| 114.4 63.7 55.1 104.6 | 54.2 98.3 111.5 | 47.6 60.8 49.3

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com




L3
L2
H
L1 3
H1 - SF
Re RE
\r _____ _:\/ 1y s— Y = '\¥
|
I
4 u - Q ™
A y 5 I~ S B
|
|
I L -
F=——- J S oo Q| n
S1
C1
Part No. L w H Cc1 Cc2 $1 L1 L2 L3 W1 w2 w3 C3 H1
RND 455-00702 / RND 455-00717| 275.0 175.0 65.5 264.1 164.0 132.2 258.2 267.3 271.2 157.4 166.2 170.8 132.1 58.6
RND 455-00709 / RND 455-00724| 165.8 127.3 76.3 154.0 116.1 771 147.6 157.9 162.2 109.4 119.4 123.8 771 70.1
RND 455-00703/RND 455-00718
250.2
245.0
242.2 .
100.5 238.0
X
2321 )
93.4
P&‘ )}’& 119.0
|
|
|
|
4 : ol O - © ol ol q
e | g < 4 I o I IS R
: — QU] [qV] Q¥ | d
! o
| [e)}
| =
|
= J . A
799
160.0

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com




L3
L2
H
L1 +b<
HL e
R2 Re
) \/ — —
_____ A T 9
I
|
I
|
4 ol b 4 < QY] ™
S [ I =
Ol [P 4 =
! 3 3
|
I
|
————— N e o an fo
A
S1
C1
Part No. L w H c1 Cc2 $1 L1 L2 L3 w1 w2 w3 H1
RND 455-00707 / RND 455-00722| 139.1 101.5 76.7 128.7 90.7 64.8 121.8 130.9 135.0 83.9 93.3 97.5 69.8
RND 455-00704 / RND 455-00719| 119.9 100.0 35.7 108.5 88.4 50.1 101.9 112.2 116.5 81.8 91.9 96.1 29.2
L
L3
L2
W
H L1 .
Ko Q@
H1 2
— =
(F———— ( oo oo—H
-: B/ AN
4_> | — | n O
I QU] ‘ B g — o ™
| O P 9 = 3 =
i qr—Th q
| h q
|
______ _ ’-)\ on on |/-
U ) \ n 2
| St
C1
Part No. L w H c1 Cc2 S$1 L1 L2 L3 W1 w2 w3 H1
RND 455-00708 / RND 455-00723| 79.9 54.9 25.5 70.5 45.4 40.0 64.0 73.8 76.8 38.7 48.8 51.7 19.7
RND 455-00710 / RND 455-00725| 60.0 54.9 30.0 50.6 45.4 30.0 43.8 54.0 56.9 38.9 48.8 51.8 24.6

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com




IP66 Die-Cast Aluminium Enclosures

PRODUCT INFORMATION

Material: aluminium alloy ADC-12 to Japan (JIS)
Finish: natural aluminium colour.

Tapped holes on the body to seize the cover easily.
M3.5 countersunk stainless screws are included to
seize the cover and the body.

Mounting flange is designed on the bottom of the
body, so that it can be mounted on the wall easily.
IP66 Rating of aluminium boxes are available for
ordering.

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



With seal

ITEM No. Colour ITEM No. Colour ITEM No. Colour EXTERNAL DIMENSION(mm)
RND 455-00798  Aluminium  RND 455-00818 Light Grey RND 455-00838  Black 222 x 146 x 55
RND 455-00799  Aluminium  RND 455-00819 Light Grey RND 455-00839 Black 114 x 64 x 30
RND 455-00800 Aluminium  RND 455-00820 Light Grey RND 455-00840 Black 114 x 64 x 55
RND 455-00801 Aluminium  RND 455-00821 Light Grey RND 455-00841 Black 120 x 100 x 35
RND 455-00802 Aluminium  RND 455-00822  Light Grey RND 455-00842  Black 114 x 90 x 55
RND 455-00803 Aluminium  RND 455-00823 Light Grey RND 455-00843 Black 171 x 121 x 55
RND 455-00804 Aluminium  RND 455-00824  Light Grey RND 455-00844  Black 140 x 100 x 75
RND 455-00805 Aluminium  RND 455-00825 Light Grey RND 455-00845 Black 165 x 127 x 75
RND 455-00806 Aluminium  RND 455-00826  Light Grey RND 455-00846  Black 89 x 35 x 30
RND 455-00807 Aluminium  RND 455-00827 Light Grey RND 455-00847 Black 171 x 121 x 106
Without seal
ITEM No. Colour ITEM No. Colour ITEM No. Colour EXTERNAL DIMENSION(mm)
RND 45500788  Aluminium  RND 455-00808  Light Grey RND 455-00828  Black 222 x 146 x 55
RND 455-00789  Aluminium  RND 455-00809 Light Grey RND 455-00829 Black 114 x 64 x 30
RND 455-00790  Aluminium  RND 455-00810  Light Grey RND 455-00830  Black 114 x 64 x 55
RND 455-00791  Aluminium  RND 455-00811 Light Grey RND 455-00831 Black 120 x 100 x 35
RND 455-00792 Aluminium  RND 455-00812  Light Grey RND 455-00832  Black 114 x 90 x 55
RND 455-00793 Aluminium  RND 455-00813  Light Grey RND 455-00833  Black 171 x 121 x 55
RND 455-00794 Aluminium  RND 455-00814  Light Grey RND 455-00834  Black 140 x 100 x 75
RND 455-00795 Aluminium  RND 455-00815  Light Grey RND 455-00835  Black 165 x 127 x 75
RND 455-00796 Aluminium  RND 455-00816  Light Grey RND 455-00836  Black 89 x 35 x 30
RND 455-00797 Aluminium  RND 455-00817 Light Grey RND 455-00837 Black 171 x 121 x 106

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com




L4
L1 X
H +
L3 &
& H1 < . L2
CS )
| pd
KE———2 DY 5 i
7o) o
4
o
o ~ — o ™ <
o O = - I
j) 0
r——— H i
S1
C1
4 HOLES #5.2
C3
Part No. L L1 w w1 H c1 c2 c3 ca S1 L2 L3 L4 w2 w3 w4 cs H1
RND 455-00793 / RND 455-00803| 201.7 | 171.9 | 121.2 | 100.1 | 55.3 | 160.6| 109.5| 189.0 | 80.0 | 80.0 | 154.2 | 163.6 | 168.9 | 103.1 | 112.4 | 117.8 | 80.3 48.4
RND 455-00797 / RND 455-00807| 201.7 | 171.9 | 121.2 | 100.1 | 105.4 | 160.6 | 109.5 | 188.9 | 80.0 | 80.0 | 154.3 | 163.4 | 168.7 | 103.2 | 112.2 | 117.7 | 80.3 99.2
RND 455-00788 / RND 455-00798| 252.0 222.3 146.1 111.7 55.5 211.7 | 135.6 | 238.0 98.0 100.1 205.9 213.7 | 218.6 | 129.2 | 137.8 142.0 | 105.8 48.9
RND 455-00795 / RND 455-00805| 194.8 165.6 127.4 100.0 76.3 154.1| 116.1 | 182.2 80.0 78.0 147.5 157.4 | 162.3 109.7 | 118.8 | 124.0 77.2 69.8
RND 455-00789/RND 45500799, RND 455
L
L1
I
L4 +
3
L3
H
/Pe\ u1 & L2 1
2
4 5] o
o < = o o™ =
O & g I -
72’) (o]
| Ep—— nn an JRp— )
Se
S1
C1
C3
Part No. L L1 w w1 H c1 c2 c3 c4 s1 s2 L2 L3 L4 w2 w3 wa H1
RND 455-00789 / RND 455-00799| 139.7 | 114.6 | 63.8 44.7 30.0 | 104.5| 54.2 | 127.0 | 30.0 | 60.1 | 30.0 98.1 | 107.3 | 111.4| 47.6 | 56.6 60.6 24.4
RND 455-00790 / RND 455-00800| 139.6 | 114.6 | 63.8 44.7 55.0 | 104.6 | 54.3 | 127.1 | 30.0 | 60.1 30.0 98.1 | 107.3| 111.4 | 47.5 | 56.5 60.7 49.1

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com




D 455-00792/RND 455-00802

g
]
S
<
ko
£
£
S
N
N
N

139.8
114.6
111.3
B
107.3 &P
9\ 485 / P
=== 5 5 == = T
9] il O
4 h q
e of R = o ~ ™
o = D) 0| ™) Qv [No] [N
N| L) ™) D) N| | o0 o0
PR q
}) h il O
I S - R
25.0
50.1
104.5
4 HOLES @52
127.0
169.40mm [ 6.669in]
139.30mm [ 5.484in]
135 60mm [5.339in] FOUR(4) M3.5X9(12)mm
31.60mm [5.181in] FLAT HEAD SCREWS
‘22-40mm[4-8‘9‘n] 139.30mm [ 5.484in]
64.80mm [2.551
| | % = & —
= ‘ ‘ = 1 | ‘ <
& ® U;Sémm[O.lOHn] ® STEl g8 5 i 18
9 3 =8 % @ 8 i
) A 3] o] 3] 9] < €
£ I il EEEEE: g
£ A A E EE|EE IS 0|
& 21813932 5
S e e Slol || 2 T 7 2
o e N oo o
—m=e fg— — - -
128.80mm [5.071in]
157.10mm [ 6.185in] ‘ | 128.80mm [5.071in]
fer ™ —
LM_L <
£ >
®3 r ;3 3
1] 2
= £
—=a € £ )
clglgls g I S 139.30mm [ 5.484in]
5| | ©| ox S cl c o
39 =8 = 55 S
RN RNIRSIRS] S <8 e
E|E g € b 29
855 & E
N SE
— N
] - )
SECTION B-B

SECTION A-A

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



L1
L4
L3
B
H Le
& H1 g 2 i
\ _____ / —H— /
) o
4 o < — (4] ™M
o O : d 5 3 3 >
o o
| i
_____ s o a G
—E—
C1
C3
4 HOLES ¢5.2
Part No. L L1 w w1 H Cc1 Cc2 Cc3 Cc4 S1 L2 L3 L4 w2

RND 455-00791 / RND 455-00801 | 149.8 120.1 100.2 80.0 35.6 108.2 88.3 137.0 60.0 45.2 101.8 112.2 | 116.5 | 81.9

RND 455-00796/RND 455-00806

1139
89.1
85.8 X
¢
& 30.0 2 73.0
23.6 2
- / | pd
4 :_ < olg 2 T
— L)
| o f 2 e N I I
\_—/__ __”\ e = A
36.0
2 HOLES 5.2 796
101.8

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



IP65 & IP67 Die-Cast Aluminium Enclosures

PRODUCT INFORMATION

MATERIAL: Aluminium alloy ADC-12 to Japan (JIS)
Finish: Natural aluminium colour.

Designed to meet IP65 /IP67 through the use of neoprene gasket with the universal tounge and
groove seal system.

Wall Monting holes and lid fixing screws are outside the sealing area for realing protection.

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



¢
S
=% ¥,
/ W
RND 455-00367
IP65 Rating
ITEM No. Colour ITEM No. Colour EXTERNAL DIMENSION(mm)
RND 455-00377 Aluminium  RND 455-00401 Light Grey 50 x 45 x 30
RND 455-00366 Aluminium  RND 455-00390 Light Grey 90 x 36 x 30
RND 455-00378  Aluminium  RND 455-00402 Light Grey 98 x 64 x 34
RND 455-00367 Aluminium  RND 455-00391 Light Grey 64 x 58 x 35
RND 455-00384 Aluminium  RND 455-00408 Light Grey 55.5 x 41 x 31
RND 455-00368 Aluminium  RND 455-00392 Light Grey 115 x 65 x 30
RND 455-00379  Aluminium  RND 455-00403 Light Grey 125 x 80 x 40
RND 455-00380 Aluminium  RND 455-00404 Light Grey 125 x 80 x 57
RND 455-00381 Aluminium  RND 455-00405 Light Grey 150 x 63 x 36.5
RND 455-00385 Aluminium  RND 455-00409 Light Grey 79.6 x 74.6 x 52
RND 455-00369 Aluminium  RND 455-00393 Light Grey 115 x 65 x 55
RND 455-00386 Aluminium  RND 455-00410 Light Grey 102.5 x 52.5 x 25.5
RND 455-00370 Aluminium  RND 455-00394 Light Grey 115 x 90 x 55
RND 455-00371  Aluminium  RND 455-00395 Light Grey 148 x 108 x 75
RND 455-00382 Aluminium  RND 455-00406 Light Grey 160 x 100 x 60
RND 455-00383 Aluminium  RND 455-00407 Light Grey 160 x 100 x 81
RND 455-00387 Aluminium  RND 455-00411 Light Grey 175 x 80 x 60
RND 455-00372 Aluminium  RND 455-00396 Light Grey 171 x 121 x 55
RND 455-00388 Aluminium  RND 455-00412 Light Grey 200 x 120 x 75
RND 455-00373 Aluminium  RND 455-00397 Light Grey 222 x 146 x 55
RND 455-00374 Aluminium RND 455-00398 Light Grey 222 x 146 x 82
RND 455-00375 Aluminium  RND 455-00399 Light Grey 120.5 x 120.5 x 101.5
RND 455-00376 Aluminium  RND 455-00400 Light Grey 158.5 x 158.5 x 101.5
RND 455-00389  Aluminium  RND 455-00413 Light Grey 260 x 160 x 90.5

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com




RND 455-00377 / RND 455-00401

TWO(2) M4X20mm L
FLAT HEAD SCREWS === R
55§ glelgle
SEIREN SRS
50mm [ 1.969in] v somm|[1.969in] SR 6mm [0.236in]
- = mm . N
45mm[1.772in] \ £ £ £E 42.54mm [1.675in] EEEE 2mm [0.079in]
40.20mm [1.583in] \ SEEE 40.20mm [1.583in] §555
30.60mm [ 1.205in] B Qs 28.14mm [ 1.108in] . alag Y
< Y ‘ . VA z
T
5 4 E 2 & N
S
€
€
S l@) " i
) A f@ A N\ f =
\ JA ') D =7
. " = C
b\é 6.60mm [0.260|n} SECTION C-C
9 SCALE 1: 1
S
(0@ 40.20mm [ 1.583in 40.20mm [ 1.583in]
P
o @) -
<
N
~N
N
R = el g ]
= .=|.=| € [ee} = .= c| C
CEEE < 59 5§ 85
SR S | oy ¥ R e
=99 c = SRS o —
€l g g ¢ € i 9|~
€ ‘
R 5 £ £
B &= - 3 & Q8
& 3
I =
¥
V4 U 1
SECTION A-A 7.50mm|[0.295in ]
SCALE1 : 1 SECTION B-B
SCALE1: 1
RND 455-00366 / RND 455-00390
FOUR(4) M3X12mm
89.70mm[3.531in] FLAT HEAD SCREWS .
84mm|[3.307in] EEEEER &5 &
80.80mm [3.181in] 2983 § § 818 Q
69.70mm [2.744in] o|g|o|—|~| - 89.70mm [3.531in == [ )
56.60mm [2.228in] EEEEEE 80.80mm [3.181in £lg gl Smmloaszinl
S5EE5E 80.29mm|3.161in £ & 5| 240mml0094in] | |
44.85mm[1.766in] SIS : c SRS
2.69mm [0.106in] i}i o/ IR 9 = 3|8
o T i 0 a A
| ] 7
(01267 L i
L= | ¥
320 AT I N i
Vi % L
aé#% A ) : b Z
- C -
_ == £ SECTION C-C
C el
[ Q
0 —_
2 g
80.80mm [3.181in] = 80.80mm [3.181in] €
€ : N
IS &
}
& &
# S
g & 7 =
& 5| 5| 3| © = o gl c ——
3R &&= N 2 8le &=
—~| 3| c|o|o @ 0| | oy 0|
—=l—=—== ™~ o| 9o o —
SEEEE k=) =i S|~
£ E g g€ € g ElE =F
S| ol Bl S| ™ €| € € SRS
Y| Q| & © € NS g £
NERE S e 98
H \ A §
AL T
\ |74 Z
SECTION A-A 3.20mm [0.126in] 11
2

SECTION B-B

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



RND 455-00378 / RND 455-00402

98mm [3.858in] FOUR(4) M4X20mm $
91.95mm [3.620in] FLAT HEAD SCREWS 98mm [3.858in] = 9mm [0.354in]
86mm [3.386in] 88.67mm [3.491in] :E 2 20mm 0. 102in]] [01102In}<_>
80mm [3.150in] 86mm[[3.386}n}] £
74.50mm[2.933in] 71.22mm | 2.804in S
B+ _—C o
N
i Y i B
Qﬁ L(\ - \ M
( 8] o ¢’ clelg I ]
’A 1 - N[ B L\r % 8 [J E?E
o DI =4 S5 8 _—
2 el i A M R S| =0
2, EEEE A
> E| E|ElEE El gl €
\ Q | | 3 38 =D ElElE
& 7 HIPS{ I ING IR
% A w8 |5 @ 2 L
[Ys}
o (& L]
Zhd 54
B— ~ C
86mm [3.386in] SECTION C-C
£ i~
=
| -
SEEE g 7 94 &
@ 0| = = e} 5| |
81855 (g ’1
—| 3| o) 9 i S =
feleg @ @) K A2
£ €l gE £l E | |
9888 [0.268in] §§
NE R DL B 6.80mm [0.268in SIS b B
= SECTION B-B X N e
il ) ~_ i
2] i ~J-
v aL

, 1

SECTION A-A

RND 455-00367 / RND 455-00391 ]
64mm [2.520in ] £ 5mm [0.197in]
) FOUR(4) M4X20mm N
64mm [2.520in] FLAT l-(iE)AD SCREWS 54.20mm [2.134in] Q 2.50mm [0.098in]
58mm[2.283in] 52mm [ 2.047in] -~
52mm|[2.047in) _ 28.06mm [1.105in] €
32mm [ 1.260in] & e
31.90mm[1.256in] N M
! gl e =
A THD @y L — 4 b
- =2 A A== v N qpEu
3o 3 B = =9 clelc
@ )| | —| 0 = N @
Doy —| 9@ o =@ ®
lo, e oo ®| © N
<5, € €€l €gl€ R M
S ElElg € £ g e |
ol & %lo|® E| €l € 5
3 7" 338 =4
‘% E G ﬂ '\.
oN o) \ j4IE cTonC.C
= c EE
; = =| ®©
. 34mm [1.339i 52mm [2.047in] B
T ; T o o i P
,Q} - PARZN \ cle
\) hEIE= 1@% g £
g 8 = 38
s{'SO - & E g 7
-] 0
/O/ >>, g al
] n/ S £
. e Ak : I
2 3 3 3 7z ‘
[p)
S @ | N @ N, /

26mm [ 1.024in]
(

31.50mm [ 1.240in]
30mm/[1.181in]

9.40mm[0.370in |
2.50mm [0.098 in |

174
SECTION B-B

7mm [0.276in]
SECTION A-A

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



RND 455-00384 / RND 455-00408

55.50mm [2.185in ] ; )
48.60mm [1.913in] FOUR(4) M3X12mm 55.50mm|[2.185in] 4mm 0.157in]
! FLAT HEAD SCREWS 45.49mm [1.791in] 1.50mm [0.059in]
45mm|1.772in] 45mm [1.772in]
34.60mm [ 1.362in] 2150 1.240in]. O
Sy " - — |
R ‘
< o X
01260 4
* (D:"hr\mm * C
C
A B A } }
& 3 (4 i
B 1
s R 44 H
= 2y s £l £l £ £
Rl & & S Q5 Y
S e 2 ISIRSIRC] SECTION C-C
- <= <=l = P Pl SCALE 1:1
£ EEE HEEE
45mm[1.772in] 5 & & £ E| E| €| €
‘ . s el I 45mm[1.772in] 8 B &+
l & @ ® 'l: (g)) g
2 £ =
2 £ =
) (=] 8
s %, - =
Qo —] €
%, £ £
o & -
& < 5 8
< ¢ c
(3] o~ o =
3 3 g 5
55.50mm [2.185in] o — — 4 2
£k : § g
Rr=: I Z o NS 3 3 Q£
S S 3 = o o 9
2 « g g =
sl B gg T
€ € —
S 1S
a -
48.60mm [1.913in] <
4.80mm [0.189in]
SECTION A-A
SCALE1:1 SECTION B.—B
RND 455-00368 / RND 455-00392 SCALE T
115mm| 4.528in
109.05mm| 4.293in
103mm] 4.055in 5mm[0.197in]
88.65mm][ 3.490in 2.50mm|0.098in
78mm 3.071in 25mm[0.984in ]
58mm 2,283\.n 20mm[ 0.787in] 115mm][ 4.528in ]
23mmi 1.142in 2.50mm[0.098in] C
|=a]
A B =
I SI
§> X £ L
3 w0
EREEEs 2, = - a
325233 /77/0 €l
568|828 L2y S— £
& &2z 2L 4l 5
E|ElE[E[EE @ ° L
HHHEEE
SRR @}L 3mm[0.118in] M $ $ B
e ‘@ | ==
ake: ﬁ SECTION C-C
~ A B
SECTION A-A
FOUR (4) M4X20 mm
FLAT HEAD SCREWS
103mm[ 4.055in ] J0mm[0.394in]
0+ + 9
§ Yis EE
o Q @| ©
- 2, =ls
E| )),-,7 Ju— —— 71| €€
& = 55
< @l N
2 7 1 |
ey + + o % |
L
SECTION B-B ¢ ‘ \ FT

ASSEMBLY

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



RND 455-00379 / RND 455-00403

124.50mm [4.90in =
. | & ,FOUR(4) M4X20mm )
< 116.80mm [4.60in =@/ FLAT HEAD SCREWS 124.50mm | 4.90in] ‘
®|i5 112.50mm [ 4.43in o 113.60mm [ 4.47in] 15mm [0.59in]
.o 106mm|[4.17in] E% 112.50mm [ 4.43in] 2.50mm [0.10in]
gl € 102mm [4.02in ] 3 & 98.58mm [3.88in]
£l E N g
8 o~ — -
7 £ B/
s ©3.20mm[0.13in] 3 == N J —1 |
S s [ @ HEE —
A ¢ A : | — - 30 NI 1
* RS £ e o NS
E |
EEE 3 7 FEE f
& & Rslo o 0 g g
A )i 2 - - ©lo @
9 ; dg 3 =IREE 7
-4 f@r N ng 2
)
11.40mm [0.45in] e
SECTION C-C
112.50mm [ 4.43in] SCALE2:3
112.50mm [ 4.43in] )
é % ‘\7
£ -
3 3
o o
= £
£ gelg £
Q ©| o8| o8 9]
 on® o
— b= 9.9/9)
gl g é el gl e
R EIEE
= S|95 REE —|
€| E| €| € ol £
£l € ElE 1 5 ur\)
S &) o| ™ /V ::
N £
& 7mm [0.28in] E £
ol ©
SECTION B-B B <
SCALE2: 3 3
11 H H n
SECTION A-A g
SCALE?2:3 l H ‘g»
[ !
RND 455-00380 / RND 455-00404|
124.50mm [4.90in
=g FOUR(4) M4X20 )
116.80mm [4.60in S[E| /FATHEAD SCroms 124.50mm | 4.90in
—|— 112.50mm [4.43in -2 113.60mm [4.47in 15mm [0.59in]
gs 106mm [4.17in e 112.50mm [4.43in 2.50mm|[0.10in]
oS 102mm [4.02in € 98.58mm [3.88in]
a5 %k o
g 1 g 7,
™ —
° ©3.20mm [0.13in] 5 5 [J £¢c L
Py clglg = 3 N T
AT MIBAREEE : o el
N ) Q Y SRS f
N o> Elgl €
E €l E o QSIS
& b £ £l £ - L 0IR 8
| . 328 E g o -
; LR mIEE
) NS N g /
[ 11.40mm[0.45in] | '
112.50mm [ 4.43in] SECTION C-C
112.50mm [ 4.43in | SCALE2:3
L d i
E‘ £l gle =
| 0| 0 ==
ST 3
—] N
€ gl g€ =
£ Efg¢ £
< SRR ©
— gy el
£lelgle -
SN @
R Al K=IRE
SIS 7mm][0.28in] NI
k) SECTION B-B =g
N SCALE2:3 EE
[SIENN
wnwn
a )
2 I
Z
SECTION A-A
SCALE?2: 3
1

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



28mm]|[1.102in]

RND 455-00381 / RND 455-00405|

e
150mm [5.906in] NS FOUR(4) MAX20mm =
142.50mm [5.610in] :E: FLAT HEAD SCREWS 150mm [5.906in] =
138mm [ 5.433in] £ 139.10mm [ 5.476in] =
133mm [ 5.236in] lelZs] " =
2 Somm 52360 (3 138mm [5.433in] £ 10mm [0.394in]
.40mm [4.937in £l ol 122mm [ 4.803in] 3 4mm [0.157in]
4B c Q
fAl & B 1AL Tels s 4 \& ——= ]
R 2] i NI *ﬂ Sps n
S o N = NES] =
O, Q| o i (i B
%, ElElE S
@l %y ) HEE ( £ E
— n| 00 1
O 5 ( |
= R e
~c
SECTION C-C
SCALE2:3
137mm [ 5.394in] ‘ 138mm [ 5.433in]
c
3
~

%)
4
50,.'7

j{% 6?4
52mm [2.047in]

4mm [0.157in]
10mm [0.394in

g ‘
[PIRNENY
x| O n
B o Z =g
—| O] O = .=
== AN N
39~ SECTION B-B :E%
0 SCALE2:3
N £l E
pe = — [elNe]
nlwn
W & \d
N| ™M
T ] I )
SECTION A-A
SCALE2:3 ]
RND 455-00385 / RND 455-00409
79.60mm [3.134in]
72.30mm [2.846in] FOUR (4) M4X20 79.60mm [3.134in]
68mm|[2.677in] mm 69.59mm [2.740in]
FLAT HEAD SCREWS ;
47.21mm|[1.859in] 68mm|[2.677in] 12mm[0.472in]
15mm[0.591in] 44.29mm [1.744in 1.80mm[0.071in] | |
24mm [0.945in] )
: 1 S 20N
7 ERN
Al \ﬂ_ﬂg J A I O e ]
%, =i = EEEE ]
N 0| [l e] < ~N -
%, EEER 3353
— o] ] o o iy i e
24mm|[0.945in] % g € ¢ g ¢ B - EEE
_ %, Il £ ElE g E 5 & &g
15mm[0.591in] 3 39 3 2 SRR
=0 A 8 1197 , SENE —
s [P ES S\ Iz I
: BNJ
68mm[2.677in] SECTION B-B
N SCALE4:5
T 5 )
o N ‘
) 5
3 K3 =
S N 5
£ % Q
& N
£ % o
9 o £
Q 3
: 3
ot + e = |
i i ) Y
= S
52.40mm [2.063in] S
g ¢
[
Q & 79.60mm [3.134in]
— o
€
i £ —
5 S Py ﬁ(’ [ L £ 2
ER — 25
| ©o - <
£ ¢ 2 o
gl £ £ e
95 3 5
g w
4.76mm [0.187in, 5mm [0.197in]
SECTION A-A 72.30mm [2.846in]

SCALE4:5

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



RND 455-00369 / RND 455-00393

115mm [ 4.528in| = <=d-d—< EEE
FOUR(4) M4X20mm | 109.05mm [ 4.293in] NSNS . Q| @ R
FLAT HEAD SCREWS 103mm | 4.055in] SR R 115mm [ 4.528in] NI BN
[3.490in] s IR 105.40mm [ 4.150in] SES 5mm[0.197in
88.65mm | 3.490in SRR 103mm [4.055in] £ E £ 2.50mm[0.098in]
. 78mm [3.071in £ E £ € E 97.89mm [3.854in & & &
58mm [2.283in | ‘ 6| O o B S ol & B
A o | 9| 0| v
29mm [1.142in] i ‘ =) a9 e B o \
! | T ¢
S o % @ 4
\ ) = I
[
\L
((\\0 A ? (@ 5]
o R s I
o (CL ‘ BJ
® ‘ R ~—c
clcle SECTION C-C
g g % SCALE2:3
102.80mm [4.047in | — SIS
\ £ R R o
T T < —] C| C
cI'clcclc —+ +- S ISESRS o|in =
© o N5 © i o = £ g E 2
AN| 0| OO~ O ' — O| | O AR ’ ~
e D B iRl = e -
N — — OO E Y] <t I G
EEEEER £ °LT £ \\
siksit=ll<Iks; : = 9 il | ]
B BB~ 5 N
B I N i = ~ ‘
n ~ <
b J
P M | \\\\ //,
4.50mm [0.177in] | o
6mm[0.236in ] il
| T M SECTION BB
! SCALE2:3
SECTION A-A
SCALE2:3
102.50mm [ 4.035in] 102.50mm [ 4.035in]
Lamm|[3.785in] FOUR(4) M3X12mm 92.89mm [3.657in]
Zf.lgmm[zéigm] FLATHEAD SCREWS 91.40mm [3.598in] (0157im]
[5.284in] 78.89mm [3.106in] ~—4mm[0.157in]
82.14mm [3.234in pap i L75mml0.069in]
| | B
— @ ®3.20mm[0.126in] @ EiEEE ;‘ g E E
geti=1e 83983 598 3
E : o i e O e g g g
E 84mm|[3.307in] @:‘VF é § g é é § % é
A 7 . &
91 40mmI3.598in] 91.40mm [3.598in] SECTION C-C
Y ©- E
& g ‘ g S
% 4 3 3 %
2, = e £
@ = o 3
% £ £ A
o, h ‘ N
Jr Qe < , @ SECTION B-B
=] £
9% é E 4 102.50mm [4.035in] § E
i WL — i : i

81.80mm [3.220in]
SECTION A-A

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



RND 455-00370 / RND 455-00394

115mm [4.528in]
108.70mm [ 4.280in )
103mm [4.055in] FOUR(4) M4X20mm 115mm [ 4.528in ]
87.90mm F’Aénn% FLAT HEAD SCREWS 104]Ac1)2mm B.gzgw_n% S5mm[0.197in]
77mm [3.031in mm | 4. in - .
29mm|[1.142in] 83.30mm [3.280in] 2.50mm[0.098in]
29mm [ 1.142in] _C
- & )
S INEENES (1 ISR -
= =@ S| v ENRSIR
S o] @ @) R o Rl ]
A EIE E € €E€E El € g €
* £ g £l EIEIE El €| g £
SIS INESEE S RIR R
wn o (@) ©
wn oo} ﬁ‘/ wn ~N
@, Lt
A 5 I
~C
| SECTION C-C
gl cle SCALE2:3
|l N| o~
N| M| 0
ERINEN
€l €€
€ £ &
o| ¥ O
< S| v
c'cl'cl' gl gl al
| o &| B ©
AN| 0| M| V| O~
Ol ov[ N M| O — —|
S ~olg & &
£l gl g g€ 3 ©
E| E| E| ElE L 1 N
[slkelhik=lk=] JT i P
2RISR ) oy gl €
I 2.50mm [0.098in] smm[0.236in] ;S: §
o SECTION B-B
SCALE2:3 f# 7
SECTION A-A
SCALE2:3
RND 455-00371 / RND 455-00395|
148mm | 5.827in 148mm [5.827in
141.56mm . 5.573in FOUR(4) M4X20mm 137.39mm [ 5.409in
133.30mm | 5.248in ATHEAD SCREWS 133.30mm [ 5.248in 10mm [0.394in]
121.56mm | 4.786in 117.52mm [ 4.627in 2.50mm [0.098in]
110mm [ 4.331in
30.10mm [1.185in]
30.10mm [1.185in]
C
T 2
g EEEEE b/ & ]
[SURIRNESIRsY —
§5%88 SEEE
0|9 3| <) ) 318 3| &
EIE E E E B
sl - EEEE
B RKIS £ £ € €
— ol = — N S| Q| B
®© |2 | N 9 S
— Nl N T =
e
133.30mm [ 5.248in] SECTION C-C

133.30mm [5.248in] |

Y - P

93.20mm [3.669in

77.30mm [3.043in|

8mm [0.315in]
SECTION B-B

70mm [2.756in]
75mm [2.953in]

148mm [5.827in]

65mm [2.559in]
55.70mm [2.193in]
40mm [1.575in]
10.30mm [0.4064in]

40mm [ 1.575in]
7.30mm [0.287in]
2.50mm [0.098in

SECTION A-A

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



RND 455-00382 / RND 455-00406

159.50mm [ 6.280in ]
FOUR(4) M4X25 ' )
151.95mm [5.982in FOAT HEAD SCREws :i;‘ggmm%gg?g”% QOmm[[o'787'”}}
146mm [5.748in .70mm|[5.815in 3mm[0.118in
ge 140mm [5.512in 146mm|[5.748in] 9.80mm[0.386in]
S8 133.95mm [5.274in ‘ 129.70mm [5.106in]
=i h-® =<
£ = I - i
S ® . 5 SREEE i i ——== =
1 #320mmlo126in] R SREISES o @) %[ 5| i< -
) S R £l E 8 <5 I
s o Y TS KR 85 & e
Al £ == EE o e
b 8 Ly § 855 © o $3.20mm[0.126in] g g & -
o o ®| % o g o R| B L
& e o R B -
8 = 2
11.30mm [0.445in] SECTION C-C
' clclc 146mm [5.748in]
= 00N !
2 f&- @ -
c <
5 EEE N
3 EIE|E N
o IS )
€ i €
£ 5
3 3
o
P L ‘
i © e =g ke @ °
e 8mm [0.315in] S
35 ?j i SECTION B-B i
-3l 5 ==
=73 g £l E
€ E¢g € £l E
ElE g€ ={S
3199 © .
R SRS 3
< O N u
[ [
SECTION A-A ‘
RND 455-00383 / RND 455-00407
159.50mm [ 6.280in 159.50mm [ 6.280in 20mm [0.787in]
151.95 % ! % FOUR(4) Max2emm 147.70 %5 815i % 3mm [0.118in]
.95mm [ 5.982in FLAT HEAD SCREWS .70mm | 5. in . i
146mm [5.748in ] 146mm [ 5.748in] 9.80mm [0.386in]
140mm [5.512in] 129.70mm [ 5.106in]
SIS 133.95mm [ 5.274in] ]
[SUES c| C
g B o5 —c L
%% o 2 *J — B
= i == |® £liclc .
s =/ RGPS L
EE @f ©3.20mm[0.126in] & IS El € N
S 5 [ 889s £ £ SR
= | o3l o3| o & £ Ele
¢ € T A =] & S
Al £ faglglgle © ©3.20mm[0.126in] 5 &l§ -
Iy re) n gl €l g E L 9 R|3B L]
< pol MEIEE] @ NEN H
3 = ot [=s]KeN
& oo v
=B E % c% 11.30mm [0.445in] SECTION C-C
39 <Q
‘ 146mm [5.748in] %%% | 146mm [5.748in| |
. E|5|E © ® |
[rol o1 R " v =
53 N
o
i 5
EEEE _ £
g % g ; E g %
Sojol g o & ‘ J &
£l glgl¢e A No & ©
€ €l g € 8mm [0.315in] \ \ e
B o Q& SECTION B-B €l €
o <o| o Sl%
© =
R
18
SECTION A-A

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



RND 455-00387 / RND 455-0041

175mm [ 6.890in] 175mm [6.890in]
, 164.40mm [ 6.472in] 20mm [0.787in]
- 167.83mm 6.607{n] FOUR(4]M4X32 mm T 63mm [6.417in]
< 163mm[6.417in] FLAT HEAD SCREWS .
S - 146.40mm [5.764in] )
3 149.77mm [5.896in] 1.80mm [0.071in]
— B
E ¥ B 1
& é -
< S L]
?o/}%?
Al === c = =
156mm [ 6.142in] <l'e g ¢ gl gl gl g
JIR 8 3 SENERS SECTION C-C
®| o] © — NI 9N~
—l N N ™ . — N N| »
o IS ) 163 6.417, === =
£g g € mim|6.417in] e
S8 & f £ & L
_ 0 B ¢ @ SRS
163mm [6.417in] 3 d 4 d-= 9 9
< 0| i<
o~ N o~
= P
3 EREE
S £l g€
€ 23
: |
[sY
wn
: E
= < < s
5 & = S & 4.80mml0.189i o &
B 8 3 52 =R
v S o = SECTION B-B £ 3
g € = gl € 175mm [6.890in] Q €
gl € S SIS o €
ol © o N| O w o
< = @ — &
6mm [0.236in] 167.65mm [ 6.600in]
SECTION A-A
RND 455-00372 / RND 455-00396
171mm [6.730in] 171 [6.73000]
164.52mm [ 6.477in mm{6.739n !
159.26mm %6 270in% 159.26mm[6.270in] L0mm_ 0,394
: v SIX(6) M4X20mm 79.63mm|3.135in) 2.50mm [0.098in]
133mm [5.236in] FLAT HEAD SCREWS : :
. 85.09mm [3.350in ], c
& Rey
%f% T 2 Y W& 7
< = == S| g
RS £ ol &.& ET: 32
o 8 REEER RN
< “ o ¥ ¥ =
o A £ R £ E
® 1 € f ElE € E € 9 S
N} 58 QqQ o £ ol ™
0 2| ON | = o|—
<~ <~ 3 hi! =
o B—] o - L
| = N AN 7 B
Sl fa\ (¢ @ {:C % %
B SECTION C-C
154.79mm [6.094in] | - & & )
G ) I
— A 4 &
£ =)
['9)
1 :
el S
c =
IS
wn
- <
o'dgg ¢ ‘ ‘
233 @ 2
N[ ™ — )
s Rl ASIAS) SECTION B-B
g E g€ =
5 E5 5 5|5
a2 3.28mm [0.129in] , o =
o | — : 171mm [6.730in] s
T H €
A [T m g €
S 3
o
<
: T [T
SECTION A-A
ASSEMBLY

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



RND 455-00388 / RND 455-00412

200mm [ 7.874in

200mm [ 7.874in

51.40mm [2.024in

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com

[ ]
192.13mm|[7.564in] [ ] 20mml0.787in]
188mm [7.402in ] i mm [0.787in
a6 929in] FOUR(4) M4X32 mm 189.20mm [7.449in] 1.80mm[0.071in]
- FLAT HEAD SCREWS 188mm[7.402in]
174.48mm [ 6.869in ] 71.20mm [ 6.740in]
) 138mm [ 5.433in] ) 2mm [0.866in] c
B | zava
T T [ 1
%32 [ ]
05, €E EREEEEE EEEE
NN o S W ¥ N ol 3| < <
g3 R I B EEEE
¢ €| € € € g €
1A £ E g g g ¢ FEEE
2 8 QK ey
X o i|2 ]
v
B e B 188mm [7.402in ] SECTION C-C
NS ~
o o 3
) il 3
) 188mm [7.402in] 2ol 2 -
€l € £
5 & 8
+ + _ =
o
o
+ S
gl 1
" £ | lim o
g5
+ Lnfv
e MLU.
Slgl < 4+ 4 SECTION B-8
NO|W| N
RN
RIERE
£lg| € 200mm [7.874in]
E|E| £ —
wio| 9o c
RN 5 —
= 8 | £
2 o
€ o
5 :
2 M T <
iz M M1 =
SECTION A-A
RND 455-00373 / RND 455-00397
222.50mm|[8.760in] SIX(6) MAX20mm 222.50mm [8.760in
216.85mm [8.537in] FLAT HEAD SCREWS 212.60mm [8.370in
l95.38mm[7.692{n] 191 80mm]7 551 2.50mm [0.098in]
184.60mm [7.268in] 55.40mm [2.181in] 105mm [ 4.134in] 105mm [ 4.134in] 5mm [0.197in),
H 55.40mm [2.181in] - -
= - c
A—F T e%ﬁ T : FA 8, ﬁy Lki,
- 91.21mm[3.591in]| | | 91.91mm[3.618in] =
mEEEEE ——=
€ SERE E
& LelR=lir N ININ
) 0] 0] ) vl
e | € g EE ==
C
€ X u% S g € g g
Sl REEEEE 32
oL g~ -7 Q — -
O P —
5] € L
o 5 ﬂ ]
o Lo e @ N o)t i
™) £l £ £
:rr S 9 —C
NS SECTION C-C
) 105mm [4.134in] _ W Bl
- { €l g €
® T @* £ ElE
3 3 3
210.60mm [8.291in] . 3| <
= <
& N
5 N ISTILE
=) 2 I
S £ £ <4
« 0 £ gr o Lg
£lelgle Foss Q m LIy T o —
3353 O o - S
IR &2 = 5.97mm [0.235in] ] e
:E:E%% SECTION B-B £ €
£ £ £ g et © e e
[slk={k=]i=] N
BO—® ~
< 5o}
< = —
rof
T . ‘ | 1
SECTION A-A



RND 455-00374 / RND 455-00398

222.50mm | 8.760in SIX(6) M4X45mm 222.50mm [8.760in]
216.85mm [8.537in FLAT HEAD SCREWS 212.80mm [ 8.378in]
:Zi'zgmm [;';zg”} : } 192mm [7.559in] 32.30mm|[1.272in]
-60mm | 7.268in 55.40mm [2.181in ] ) 2.50mm [0.098in
I ‘ 55.40mm [2.181in] 105mm [4.134in] 105mm [4.134in]
s | —c
oy T e
ATl s ) Y e z
91.21mm [3.591in]|_[ | 91.91mm [3.618in] \&
i = = = e
$ £ SEEE CF
S ] 3 8 5| X NI
~ < [0 10) ) 5
IS p o €| g €€ =i
£ g |l & g£¢g¢g¢ EE
) g q| 9| x| v|o £l E
Q S S| o|N o+ 39
— & dl—| = —|gl— o| <
o~ NS — - < -~
— 3 g — —
&, o
] : L@ A & 3
Pt (SIS Fc
J &
N O X SECTION C-C
105mm [4.134in] _ P [
= = el g €
+© g &&
@ B ™
210.60mm [8.291in] T | 3 <
— <
& N
N L
5 y
3 9 o e
T € N
o oM IS £ ol
gl eleld s o S 3 H 3.3
MR oL 3 - £
SN 2 = 5.97mm [0.235in] gl e 1
SE%:E %EE SECTION 8-8 3 &
£ Elelelg et © + gt R
[elielielielie)
| B0 —® T
—_— < [sp)
wn <
/‘]j ol I
I e
SECTION A-A =
RND 455-00375 / RND 455-00399
120.50mm | 4.744in ==
114.50mm | 4.508in S 120.50mm [ 4.744in]

FOUR(4) Max32mm 122000 4060, == 110.90mm [ 4.366in]

FLAT HEAD SCREWS “eommI271 o] g E 102mm [4.016in] 20.30mm [0.799in]
28.50mm [ 1.122in] 23 83.90mm [3.303in] 2.30mm [0.091in]
28.50mm [ 1.122in] ‘ RIS c

Bz
— &3
[= N == = = —
S[S|9% o T s ===
38283 0 8593 ]
ol 95 < < NERIDN
— ~N . ¢
EEEREE = R
£ g g g€ €glegle
33333 S EEE
2 — —— o
1 <"« o clclc &S 3
N o =l ©| Bl S 3 2 Slo
—| - o =& P =&
B oo ® == —
S Bl 5 -
gl € € E=
£ gle -c
3 BIR SECTION C-C
NN i 102mm [4.01¢6in] i
e, ,, @
g <
5 ] )
@ £le e
R B Kl o~ g ~
£ cle e c o & g
RS € Kty g
~ 9 ¥ o < T = I
&l®l ol g © - ElE S
=== I 8mm [0.315in] £l E -
g é E E SECTION B-B X8 ‘
5|15 & - = [®- @
| K| B =4
9| o -
S [ /
:
:
SECTION A-A

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



RND 455-00376 / RND 455-00400

158.50mm | 6.240in

[ ] —
FOUR(4) M4X32mm 152.50mm [6.004in] 55
FLAT HEAD SCREWS 140mm [5.512in] & % 158.50mm 6240|n% [ }
126.50mm [ 4.980in] = 148.90mm [5.862in 20.30mm [0.799in
109mm [4.291in] g g 140mm [ 5.512in] 2.30mm [0.091in]
47.50mm [ 1.870in] 3 g 122.90mm [4.839in]
47.50mm [ 1.870in] \ N
f 1 LB <= —C
| sy
4j B [ 1
- r cl'el'c’ g [
£l g glgle SIS
ol ¥ N XS Q5SS
o N~ o F N| 0| o
IR EIESIR ~| 0] 1|5
TA EEEE EEIE E
| E| €l g E S| ololo
lsik<lk=lk=ike] — = S| ¥ 0
B KT 5H 6 £l gl g | ~| 0| 0
Nl o T N oo wnl 0| O — < v
= o B S =T |7
: IR A 3 -
- Bk =
SRS 140mm [5.512in] | SECTION C-C
o0 > = SCALE2: 5
= 1
Q g
© N
~ i
é 0
o'’ g ¢ 3 o g
g &l é N 8mm[0.315in] <
2855 - SECTION B-B -
KeREIR=IRS] SCALE2: 5 o .
€| El € €
£l E| g E
— O| O] N
®| K| D
NE= o
= =
» £ ©
o ®
o g
el £
if g @
[ | ©
SECTION A-A
SCALE2:5
RND 455-00389 / RND 455-004
260mm | 10.236in] w 260mm [10.23¢in] S 0
249.94rmm [9.840in] FOUR (4) M4X32 mm 248.46mm [9.782in] 11mm [0.433in]
240mm|9.449in)] FLAT HEAD SCREWS 240mm|[9.449in] 2.50mm|[0.098in]
238mm [9.370in] 213.17mm[8.393in]
215.59mm [8.488in A
= el B 73
2 £ L
[N
N @ © = <l = < ]
- ©3.20mm [0.126in] X6PCS = === r= e s SRS
S = §| & & S| @
: 28088 EEEER
3 = o X 9| 5| 9] i) s e e
k= A € € El g E €| € €| g € L
S 230mm|[9.055in] ‘ Iy £ £ £ g € El 5 § & 5§ I
% 329 g S ol o) 3~ 2 ]
= = g E 3
: e g -
@
g SECTION C-C
SCALE1:3
) £ £ ‘ 240mm [9.449in] ‘
‘ 240mm [9.449in] | R | |
3 3
O] o 7N N
2 El € éf -
+ = g € i Hf —
+ & 2 8 £
5 - b
it _ |
+ € s
£
£
= 3
+ + = 1 2
& + == - -+
® 7 £l gl's lo- ]
R 4.80mm [0.189in]
INRERE
i 4= SECTION B-B
9 = £ g g SCALE 1:3
INES gl g £
S S 23 ]
& o = o| vl «|
£ E S N 260mm[10.236in]
3l o ]
ol 2 = T [ 1T
IS =
£ S
- E|E
5| &
<3
i) Y8y 8

SECTION A-A
SCALE1:3

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



IP65 and IP67 Die-Cast Aluminium
Enclosures with Mounting Flange

PRODUCT INFORMATION

Material: aluminium Alloy ADC-12 to JAPAN (JIS)

Finish: Natural aluminium colour.

Designed to meet IP65, IP67 through the use of EPDMW gasket with the universal tounge and
groove seal system.

Wall mounting holes and lid fixing screws are outside the sealing area for real sealing protection.
Mounting Flange is designed on the bottom of the base, so the base can be mounted with M5 pan
head machine screws on the wall easily.

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



/ 774
RND 455-00429
IP65 Rating
ITEM No. Colour ITEM No. Colour EXTERNAL DIMENSION(mm)

RND 455-00414 Aluminium  RND 455-00428 Light Grey 90 x 36 x 30
RND 455-00415 Aluminium  RND 455-00429 Light Grey 64 x 58 x 35
RND 455-00416 Aluminium  RND 455-00430 Light Grey 115 x 65 x 30
RND 455-00423 Aluminium  RND 455-00437 Light Grey 125 x 80 x 40

RND 455-00424 Aluminium  RND 455-00438 Light Grey 125 x 80 x 57

RND 455-00417 Aluminium  RND 455-00431 Light Grey 115 x 65 x 55

RND 455-00418 Aluminium  RND 455-00432 Light Grey 115x 90 x 55

RND 455-00419 Aluminium  RND 455-00433 Light Grey 148 x 108 x 75
RND 455-00425 Aluminium  RND 455-00439 Light Grey 160 x 100 x 60
RND 455-00426 Aluminium  RND 455-00440 Light Grey 160 x 100 x 81
RND 455-00420 Aluminium  RND 455-00434 Light Grey 171 x 121 x 55
RND 455-00427 Aluminium  RND 455-00441 Light Grey 200x 120 x 75
RND 455-00421  Aluminium  RND 455-00435 Light Grey 222 x 146 x 55
RND 455-00422 Aluminium  RND 455-00436 Light Grey 222 x 146 x 82

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



RND 455-00414 / RND 455-00428

S|.Elclel s
89.50nn _ [3504in ] S s —
83.65mm  [3.293in ] SIS IR IR
8lrm_ [3.18%n ] - ‘ 89.50nn [3.524in ] 23 ‘
57.000m _[2.2520n ] HEREE 8lrm_ (3189 ] EE S [0197in ]
28.60nm__[1126in ] ~| R[22 sl 2.50mm [0.098in ]
C I Sl e e B who
[ O ﬁg—u%u—g“\ G bf 5) =
w5 C 2 ‘ B95X35.5X25 fim 1
—r M
B \ DA i
> | L7 o
3, A G = 2 &
z 7 -
am e FOUR(4) M3X12mm SECTION B-B
oo 3L FLAT HEAD SCREWS SCALE 1+ 1
o0
29
v ]
S 12037mn_ [4.735in ] <
f= 10537mn_ [4.149in ] < 8lnn_ [3189in ]
- =)
o - —
% @ 5 D (© =
3 2
3
@ =
Il .
@ &Y=
5
HOLES(2> ARE DESIGNED FOR MS PAN S| & SECTION C-C
HEAD MACHINE SCREWS USE. 8 Q SCALE 141
<lzlg g < o e ]
BEREE Sk e
212 £ =2 =y
g | E| g| E £ £
] é 0 % a 2.60mm  [0102in ] %r\% é
&
- . A7/ - 1
| AW " ’
i 7 N 7 112 974 v 1 1A
SECTION A-A
SCALE 1+ 1
RND 455-00415 / RND 455-00429
64nn_[2.520in | <[<[<[ &g
58.05mm_ [2.286in | SN E =R ‘
Sern_[2047in | S vy 64rn_[2.520in | S [0197in ]
26nn _[1024in | S4mm_[2.126in ] 138
. 2.50mm  [0.098in ] )

46mm
52.05mm
58mm

B

20mm
40mm
23mm

32mn [1.260in ]
16nm_ [0630in ]

A A
e

Qﬁ

@é\\”

N A
©
T

\

3]

|
(2 ——
uf=! ‘ oo m £ é
M R
L2 TR * A =
>N * ¢ |
3 c ‘ e
2 S7 | © b i
om =
2 =k NS
89 B i : N A &
m = q)%\
52 i3 FIUR (4 MAXPO B
5 o FLAT HEAD SCREWS ‘ SECTION BB
ol 95.05mn_ [3.742in ] _ 52mm  [2.047in ] :
ns ‘ 80.05mm  [3151in ] ‘ T ]
=< < T ‘\N
G : : < 2 ° D)- -OF—
= 5 ¥ - oy
g = 24 2 =
£ v E =
£ ue < =
el 8 o8 L1 £
= § = z = SECTION C-C : - N
=9 22 SCALEL L D- @y
EEEE ~0
o|I~NM o <
Is] iz} 5=
- fe .
Y A ) = =
N D]
b4 P
- H-
g — | £E
| D) f‘f ™| ™
SECTION A-A € 2
SCALE 1+ 1

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



RND 455-00416 / RND 455-00430|

11550mn_ [4.547in ] EEEEe- =[5 Smn [0497in ]
109.25nn_[4.301in | SIS EEE 2 ‘ S 250 [0098in
103mm_ [4.055in ] P PO e DS Do 11550nm  [4.547in ] N
5L50rmn _ [2.028in ] el el el el of | 104.80nn__ [4.126in | E|E
78mn_[3071in ] \ TR 8|5
39mn_[1.5350n | \ e MER Y ! B 53
i @ [ipliNs) =p
| L ] B
©wE 4%%25 | TEN-E *ij] Q§§f H
mg 1ISSXES5XES o G
:;\F £ ‘ Ole D I
L2 |
N
3> ) C { )
=z @ m a
() m A4 =)
2=t 8 | N : =5
= ;
S0 ‘ T ' —B SECTION B-B
mE 29 [1142in ] FOUR (4) M4X20 mm SCALE 213
S 58mm [2.283In ] FLAT HEAD SCREWS
- =
[ 28]
nl= <
=
= 146.37mm [5763In ] =
G 13137mn_ [5172in ] 103mm [4.055 ] &
¢ /I £
3 e il
@ ~ 5 —]
o | 3t £
(@) [ep]
Iz 3
A -
&+ b l e
o0 1
© it jIZ
Ben WS
—| [SRIo] '
S NEEE S5 Mg o
||| DB & <
NI kel bR — = = =5
Slo|8l3 s |22 ai x|
£ g elg s 2stmn [0d02in 1 B 3 Sl
No|S|IM S S |5 £l =
e il AR I S - 5|5
[aV]les]
r T | - y =TT T
Tl l IHI W WJ l \“J Hﬂ H" ] ‘
SECTION A-A
SCALE 2+ 3
RND 455-00423 / RND 455-00437|
e - cuson s o]
116‘98”” 4‘603@} |5 11360mm  [44720n | 8‘50”“” 0‘098“”]
‘106”“ 4‘173“” ] 2 1250mm  [4429in ] S
1< mren cle 98.58nn_ [388lin |
=3 10212mm [4.021in ] E|&
&3 - B
k;; £ — ﬂ)‘ ! — — N =)
é s fan % Sl< Er A S ——
© ‘ g oy 2 [J N EEE |
2| — = N I
Al n 03@0@ & fA ¥ ach £ \Q\?’ e E NE
4 / el e < Y
L e, - &5 2 0 2% lgl e
Vi AR & &S
o \Yf | gz . 3|28
i ® 3|2 ;‘
9 N ( 7
(@ = € IB AP /]
\ B e 23
O bgRly Lemlbie |
14137mm [5.5660n ]
112.50mn  [4.4291 ] ‘
@)
=4
+ e
<|.E
o~ | ™~
T 2|5
—| ad —| —]
I <l <
I el e R L
ey = i e + & O% 2 2
2822 o
=== o)) | =
©® £l &
|l €|l | £ g -
55| S|& )
[qu] ['p]
& | i IL

SECTION _A-A
SCALE 23

ASSEMBLY

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



RND 455-00424 / RND 455-00438

15597mn  [6140n o ‘
2450 T4502m HE 124.50mm [4909@] . T
116.92mm 4.603in @ 2 113.60mm 4‘47Bjn M ) \h
W (41730 ] =S, 112.50mn 4‘489‘m 12.50Mm [0‘4921n ]
etz [+oaln ] e 98.58nn  [3.88lin 250mm  [0.098in |
£| £
Sl&
B
& f . )
S ~ EJ &
® &|s =4 E -
| = ~|&|a
& Af &3 SRS
. [qV]
= 20mn o aé\ﬂ\ S I
% 5 S L ¢3\ Elgl e
| e < <N
i N B|% 2
= & Y
\ B
= SECTION B-B
FOURCA) MAX2SIM SCLE 203
14197 [5.58%i ] FLAT HEAD SCREWS
Mo50mm 4429 )
o)
+ O
T IS e
o 8 s
S R o == S| o
£[85|& + £l £ 7
V| N2 =2 | =1 e £
Slel=)s + O e g5
£| E|£| £ L n
0 el 1
o 1
l % e ,ﬁ:ﬂ
SECTION A=A
StALL 212 ASSEMBLY
RND 455-00417 / RND 455-00431
1U550mm_ [4547in ] ]
109.25mm_ [4301in S L B i SES
103nn__[4.0550 i e el =i
5150 [2.028in ElE e FY ‘ adled) ‘
780k [3071n S| =) ) ) 11550mm  [4.547in ] Smm_ [0197in ]
. i £l £ i
‘ Tomh (15350 ] e 104.80mm  [4.126in ] gE 2.50mm  [0.098in ]
S58nm [2.283in ] 55|18 85]S sttt
29mm (1142 ] i o B i
| [Se} n| w0 U
s & ; e e 4
E]é @ > ol q}(a ‘ Jre—— @ & 75 @f |
by 24, N I
>& 1A L s, A
5 T 2 ! J
Z2 @ @ == Ef i
m e
2@ g { m % ey @ = D B
oM
e —C FOUR (4 M4X20 mn = SECTION B-B
<9 FLAT HEAD SCREWS SCALE 27 3
°3 147.25mm_[5.797in ]
ES ‘ 132.25nn_[5.207in ] 103nn_ [4.055in ]
o © o =0 g
& 5 o | £= S
3 '50/»7,,7 oY
3 o I> £
L A s
) &+ =
© © o
A — ’_— na SECTION C-C
<l e L 5E SCALE 2+ 3
2EF =8 5 5o
e = g 22
== - 1
£lglglElE = =
2SS eaom (0094 ] g T
I ° ZE = : -
j — z {s(a 1 i = '_g‘
B4 32
=
\ 4 = ad
i = £
el L e - £

SECTION A-A
SCALE 2+ 3

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



RND 455-00418 / RND 455-00432

11520mm  [4535in —
10905nn_[4.293in EEREE
10336nm__[4.069in Sl SRS
77mm_[3031n ] I e e 1520 [4535n]
38.50nn_ [1516in | clelggs 10486nn_[4128n ]
' £| £l £| £| £ i .
29mm  [1142in ] B RILIR
29nn_[1142in ] ‘ o B
’\’é’g S| R b=
9% — 3 — 8 ,Elj I\ 1
m S D g 52} c|.S
I % Q0! o~ o
TE O 8%
%b - | airael
EE - A 1A £l e
(e} £| £
o -C L 12613 NS
Q0 ® @ gz ® N (@ 2
M5 ﬁg E‘
§§ N : o G@ 7
< e FOUR 4) M4X20 B
@23 146,95mn__ [5.785in ] FLAT HEAD SCREWS ]
i 13L95mn_ [5195in ] -
5 /I 5
%” o gﬁ 3 | 10336mm_ [4.069in ] |
(2]
; oh | i £
T> 2
zZA
o | =2
o s s o o o 2E secTin c¢
sls £ Ga SCAE2 3
SRR o 0%
= = Sk 2
=l 2| | £| £ > 5 u
E|l5|El&| £ =
B9 58 260 [0102n ][R -
[=N] ad ; zg [ > o
o @
z Pl
e =
- == D
K il I LI ﬁ_J 1] L_,
SECTION A-A
SCALE 24 3
RND 455-00419 / RND 455-00433
148.20mn_ [5.835in ]
142.05mm_ [5.593in |
133.50nn_[5.2560n | FOUR &) M4XP0 mn 14820nm (58350 ]
10mn_ [433lin ] FLAT HEAD SCREWS 137.20mm (54020 ]
) S5mm [P165in ] - -
3010mm  [1185in ] - -
300nm (1185 ] ) —3B
Lt r]
vt Tof : =il J &
re 14900965 v ol £lgl o] £ <ls
b | 922283 g
| EERESEl £l
2% M ! el e & g £
am | s S5|55 £l & | %
=] (poaesind R IR NE
8n @ paclon Lo S3E N 4 -
22 s ~B
Gh ¢
c
(20
ns
= 18047 _[7105n ] 13350 [5.2%in ]
© 165.47nm__ [6.515i ] | ‘ ‘ ‘
=
o
3 @ - ]
— ] O
o = H N
I=10sN (=3
| ™ —
i
) £
£l £ L =
£ £ ] -
8|
— le o S| SECTION c-C
2§ — |
a~
E HOLES(4> ARE DESIGNED FOR MS PAN
HEAD MACHINE SCREWS USE.
|l el E| £l &
5 E1E|5|E
Ol [ip}
o 3.80nm_[0.150in]
. I [ S
| 115 it
7 o o)
l I
i s ik

SECTION A-A

[0197in ]
[0.098in ]

S
2.50mm

5

-1

B
SECTION B-B
SCALE 2+ 3

10mm  [0.394in ]
2.50nn_ [0.098in ]
i
£
SECTION B-B

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



RND 455-00425 / RND 455-00439

‘ 15950mn  [6.280in ]
19050nn__ [ 7.5%6in —r 14770 [5.815in ] 20nm [0787in |
15930mn_6.280in S 146mn (57480 980nm  [0.386in ]

BL73mn_ [5.975in @|S 12970mn  [5.06in | 3nm (0118 ]
. ) 140nn [5512in | ] == )]
£\ 13375mm  [5.2660n | cle [
SIS
kS ‘ 2|5 4 N 7N
=2 — N % &
— & ——
EEREY Lo R & = ——
~|= 5 ) 38/
2, slelgl = & 2|58
Ty [y} = it H
b = / i
A "2, A E
Y ﬁ 6//7/ ﬁ Y : & é é é =
5 9 A (S 2158 57—
1) &) B & 9) @
9 ol oA L© oy
(&) 5 BLC
11.30nm  [0.445in ] SECTION BB
FOUR (4) M4X30 mm SCALE 2:3
176.90mm  [6.964in ] ~ FLAT HEAD SCREWS
146m  [5.748In | ‘
-
5 |
e
+ =e
S|s
3|8
el h]
Jr AT Nac)
e
S|
i + 3|8
51588 +-©
= 4.
ElEEE ©
T 7 s
EI5E|E gle
il kR
el £
IHE
B2
) T
- L ASSEMBLY
SECTION _ A-A
SCALE 23
RND 455-00426 / RND 455-00440
19163mn  [7544in —— 159,50mm  [6.280in ]
15950nm  [6.280in SIS 147.70mm 58151 |
15175mm  [5.975h D% 146rn [5.748n ] 20mm [0787n ]
—— 140nm  [5.9120n ] ] 129.70nm [5106in ] 9.80mm  [0.386in | _
SiiS 13375mn__ [5266i ] HE B 3 [0.118in ]
S | & i
=2/ —5 o ® [,, 7
© ‘ i
E|E o 2 91 o ] (lﬂ &B . T
s e ’y <cls| s < clsl e
Sl g 2l3|5
0380% o) o = Rk
t U, *odsge £ lg| 2
/ (2|3 L 320mm [012; 32| B —!
B 3 SRR 0.126in ] =Nk f
ol K (e
—~@ @, 2
17763 [6993h] 130 [0.445n ] }T SEETIN, BB
146nn_ [5748in ] FOUR (4) M4X30_mn
FLAT HEAD SCREWS
P
&
+ ]
&|s
3|8
+ ARaCh
cle
£|E
e HE
<clelels + et
||| o ' fany
S + Y
ails)S)S)
== -@
=l it
SECTION  A-A -
SCALE 2: 3 ASSEMBLY S|E
|
| =
8955,
c

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



RND 455-00420 / RND 455-00434

7lnm [6,732in ]
164.86nn_[6.490in | ‘
15950nn _ [6.280in | 17imn_ [6.732in ] ‘
79.75mm  [3.140in | SIX(6) M4X20 rm 161mm_ [6,339in ] Eégmm [[[[]]g;;m]]
4250mm [L673in ] FLAT HEAD SCREWS S0mn 098in
42.50mm_[1.673in ] B
| I I =
93 T\ J Y & 51
[ a1 ® ]
Tg 66,50mm [2,618in] ﬁ?? DS §
A 133,00nm ,[5,236in] Elals SN
R ! o df o ™|~
oY ad|wa <<
S ‘ === ]
% ﬁ | £
£l 2| £ £| &
=] | £l g| £ Ela
g C g (9012600 g|8|d =
ma @ $3.200 ® = ? L
S SECTION B-B
mOa
A
= 15950mm_ [6.280in |
a 79.75nn__[3.140in
a 202.57mm  [7.575n ]
3 187.57nn _ [7.385in ] P ©
T
mO
) & —
g =2 5
>& =
O —
> =]
Am B
>
Mo
444 e ofF5 5 LI .
= FS & ® ® ® %
e EE =] Mo SECTION C-C
£ £ = p— )
S EEE 3 e~
g ')
NES 350 [0138n ] = =%
o j = L%
4 B
i L i ol °
SECTION A-A
RND 455-00427 / RND 455-00441
231.92mm  [9.13lin 200nm _ |7.874in
200mm  [7.874in 189.80mm _ [7.472in
194mm_ [7.638in 188mm__ |7.402in 20mm  [0.787in ]
) 176mm _ [6.929In 171.80mm 6.764in 180mm__ [0071in |
) 138nm  [5.433in Je2mm _ [0.866in B
¢ v
. =< $) L
& 5|5 = T
=S clelel<l slslsls
22 == ElE Il
& 2588 YRR
7y .ﬂ..ﬁ.gg O~ | <[ <
[A 4/5’6/ A
2 £|Elele E|E|E|E
2=|5lE 28|s|8 ||
&- =t =[N =& —
519 ) g
3 B i =
\ 12 SECTION B-B
OUR (4) M4X32 mn SCALE 1+ 2
K 217.92mm  [8580in ] FLAT HEAD SCREWS
188mm  [7.402In | )
|
+ ++
ol
| gR
+ ek i
|| <l S S -
5|%5|2 R + ++ @
5|2 38] ® ® |
Elz|£|&
glalks EE
8|3
&OJ
£|E
m M 7] _'m mmrl &7
™~
SECTION A=A 1
SN, & ASSEMBLY

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



RND 455-00421 / RND 455-00435)

222.50nn_[8.7600n ] 250 50m (87601
S e 21050n__[8287in Srn_[0197in ]
S5.40mm (2181 ] : : g3 105.25nm, [4144in 250mm_ [0.098in
55.40nn_[181in ] \ | = ﬂ
“ T :
184mn  [7.244in ] ‘ 3%
9emm_[36e2in] A® - ! bl IR P —
2
o 2 slslsle S5
T 5 S| B~ &~
% % QY = , NS el Ca) Gl el Eaie)
= ‘
Lho AT - [ o =
R . ] £ glg|lg|e £5
=& S R I 3
zo Y & SRR =
P o [llC_<7 I ® Jse] R
g&m S Q @ B
© 5 e F 3 ) 5
B0 SIX (6) MAX20 mn SECTION B-B
Jg FLAT HEAD SCREWS
wm
=
Gn L
ng =] 55mm [2.165in ]
= °on o [ ) S0mm [1.969in ]
W o=A \ -+
u >3 !
> (@}
g Zz T =
5 am || 239,25mn_[9,419in] 5 =
o 254,25nm_[10,010in] &
on faziiel
Bl el o _—
==z £l £
°3 ‘ R
G |, 0550 (#0217 1T
MmO -1 & —
—|— — = L
28 fss 3 e ¢ to
|~ =2 o —
el = £ | = o~
£ £ £ [ep]
a3 &8 260mn_ [0102in ] : g —
o
e 1/ (3 = =
i v
C I J
SECTION A-A SECTION C-C
RND 455-00422 / RND 455-00436|
222.50mm  [8.760in ]
216.35mm__[8.518in ] — 22250mm [8.760in ] 32nn_ [1260in
210.50nn_18.2871n ] SES 210.50nn__ [8.287n ] 2.50mn_[0098in
55.40mn__[2.181in ] pelp 105.25nm__[4.144in ]
5540nn_[2.181in | | \ = Kl
L
i
9 =~ |
184mm [7.244in ] % ‘ g 4 @
9emn_[3622in] AP | - | i IRl Roed PN
o o ey ]
g8 | SESEE 5
g S SDOIDUDLD) =
2 5 t eie)
A5 AT - L
% § = N I £|E
A & o N DRI SR
> C oy | S ==
% & 5] —
>
=7 S w
<y SIX (6) M4X45 mm i
Ra FLAT HEAD SCREWS SECTION B-B
==
wrm
=
Gm ome
"3 &R : [ ]
o o @ + @ 82mn_|3.228in
& X5 o 77mm 3031 ]
w O
5 =% =g
EL SIS Si
(2= |
gm 239,25mn_[9,419in] B
B 254,25mm_[10,010in]
= . a~y
217ind ~
R é% -1 g5 e & =
£lsl £l <ls - ) )
3|9 =R & o+ © +.0
25852 =
E[E EEE =
33 278 260mn [0102in ] S
s IE
g =il
¥ 1
SECTION A-A SECTION €-C [

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



Multi-Purpose, Die-Cast Aluminium Boxes

PRODUCT INFORMATION

ITEM No.  EXTERNALDIMENSION(mm)

MATERIAL:
Aluminium alloy ADC-12 to Japan (JIS) R I
RND 455-00849 111 x 60 x 30
FEATURES: RND 455-00850 119 X 93.5 x 56.5
Ideal for RF projects or for projects which are subject to weather. RND 45500851 187 X 118 X 56.5
Robust, light weight and easy to machine. RND 455.00852 187 X 118 x 81.7
Ideal for projects involving heat as the case itself makes an RND 455-00853  50.8 X 50.8 x 31.8
excellent heatsink. RND 45500854 110 x 82.5 x 44.5
RND 455-00855 120.5 x 80 x 59.2
APPLICATION: RND 45500856 119 x 93.5 x 34
Electrical RND 45500857 120.5 x 120.5 x 59.2
Network junction box RND 455-00858 120.5 x 120.5 x 95.2
Stomp box (Guitar Pedal) RND 45500859 152.4 x 82.5 x 50.8

RND 455-00860 187 x 118 x 38
RND 455-00861 190.5 x 190.5 x 66.5
RND 455-00862 111 x 60 x 54

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Néanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



Dimension in mm

B
G
]
= O E:D-_::jl\
|
|
I
<T| L| I :
|
|
|
i
—Q (6) F_D;"___)
.
a 1T C
[ T
| VI
a I I
| 1
o 1)
B
G
I
I —
7 © i
q |l —fo Q D
5
o\ e ;i
E 1—
C
A |
[am]
B
G
—
7 |} 1 =S
< | T HO Q| D>
)
i\ Q e ) b
& E I
C
o Y Y1
i i i
A

PART A B c D E F G H 1
NO.
RND 455-00848| 90.0 | 38.0 | 30.0 | 26.0 | 4.0 86.6 | 34.6| 82.5 | 28.6
RND 455-00849| 111.0 | 60.0 | 30.0 | 26.0 | 4.0 | 107.2 | 56.2 [101.6 | 50.8
RND 455-00850| 119.0 | 93.5 | 56.5 | 52.5 | 4.0 | 114.2 | 88.7 [109.5 | 84.1
RND 455-00853| 50.8 | 50.8 | 31.8 | 27.8 | 4.0 47.4 | 47.4| 41.2| 41.2
RND 455-00854| 110.0 | 82.5 | 44.5 | 40.5 | 4.0 | 105.2 | 77.7 [100.5 | 73.0
RND 455-00855| 120.5 80.0 59.2 55.2 4.0 115.7 75.2 |111.1 70.5
RND 455-00856| 119.0 | 93.5 | 34.0 | 30.0 | 4.0 | 114.2 | 88.7 [109.5 | 84.2
RND 455-00857| 120.5 |120.5 59.2 55.2 4.0 115.7 [115.7 [111.1 |[111.1
RND 455-00858| 120.5 |[120.5 | 95.2 | 91.2 | 4.0 | 115.7 [115.7 [111.1 [111.1
RND 455-00862| 111.0 | 60.0 | 54.0 | 50.0 | 4.0 | 107.2 | 56.2 [101.6 | 50.8
Dimension in mm
PARTNO.| A B C D E F G H I J
RND 455-00851 187.5 | 119.0 | 56.5 | 52.5 | 4.0 | 183.0 | 114.5 | 177.8 | 109.5 | 88.9
RND 455-00852( 187.0 | 118.0 | 81.7 [ 77.7 | 4.0 | 182.2 [ 113.2 [ 177.8 | 109.5 | 88.9
RND 455-00859| 152.4 [ 82.5 | 50.8 | 46.8 [ 4.0 | 147.6 | 77.7 | 1425 | 72.6 | 71.3
RND 455-00860( 187.0 | 118.0 | 38.0 | 34.0 | 4.0 | 182.2 [ 113.2 [ 177.8 | 109.5 | 88.9
Dimension in mm
PART NO.| A B C D | E F G H I J K
RND 455-00861| 190.5 | 190.5 | 66.5 | 62.5| 4.0 185.71185.7 | 180.6 | 180.6 | 90.3 | 90.3

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com




Multi-Purpose, Die-Cast Aluminium
Boxes with Mounting Flange

PRODUCT INFORMATION

MATERIAL: ITEMNo.  EXTERNALDIMENSION(mm)
Aluminium alloy ADC-12 to Japan (JIS) RND 455-00863 90 X 38 x 30

RND 455-00864 111 x 60 x 30

RND 455-00865 119 x 93.5 x 56.5

RND 455-00866 187 x 118 x 56.5

RND 455-00867 187 x 118 x 81.7

RND 455-00868 50.8 x 50.8 x 31.8

RND 455-00869 110 x 82.5 x 44.5

RND 455-00870 120.5 x 80 x 59.2

RND 455-00871 119 x 93.5 x 34

FEATURES:

Ideal for RF projects or for projects which are subject to weather.
Robust, light weight and easy to machine.

Ideal for projects involving heat as the case itself makes an
excellent heatsink.

APPLICATION: RND 45500872 120.5 x 120.5 x 59.2
Electrical RND 45500873  120.5 x 120.5 x 95.2
Network junction box RND 45500874 152.4 x 82.5 x 50.8
Stomp box (Guitar Pedal) RND 45500875 187 x 118 x 38

RND 45500876 190.5 x 190.5 x 66.5
RND 455-00877 111 x 60 x 54

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



0w |-

[ Dimension in mm
PART NO. A B C D E F G H | J K L
RND 455-00863| 92.0 | 38.0 | 31.0|26.9 | 40 | 86.0 | 31.7 | 825 | 28.6 | 63.1 | 825 | 50.0
QL Q| O)

RND 455-00864| 111.0 | 60.0 | 30.0 [ 26.0 | 4.0 | 107.2 | 56.2 | 101.6 | 50.8 | 84.5 | 101.3 | 721
RND 455-00865| 119.0 | 93.5 | 56.5 | 52.5 | 4.0 | 114.2 | 88.7 | 109.5 | 84.1 | 118.5 | 105.6 | 104.7
RND 455-00868| 50.8 | 50.8 | 31.8 | 27.8 | 4.0 | 474 | 474 | 412 | 412 | 758 | 414 | 628
RND 455-00869| 110.0 | 82.5 | 44.5 | 40.5 | 4.0 | 105.2 | 77.7 | 100.5 | 73.0 [ 107.5 | 100.7 | 94.7
RND 455-00870| 120.5 | 80.0 | 59.2 | 55.2 | 4.0 | 115.7 | 75.2 | 111.1 | 70.5 | 105.0 | 111.3 | 92.1
RND 455-00871| 119.0 | 93.5 | 34.0 [ 30.0 | 4.0 | 114.2 | 88.7 | 109.5 | 84.2 | 118.5 | 105.6 | 104.7
RND 455-00872| 120.5 | 120.5 | 59.2 | 55.2 | 4.0 | 115.7 | 115.7 | 111.1 [111.1 | 1454 | 1114 | 1325
RND 455-00873| 120.5 | 120.5 | 95.2 | 91.2 | 4.0 | 115.7 | 115.7 | 111.1 |111.1 | 1454 | 111.4 | 1325
RND 455-00877| 111.0 | 60.0 | 54.0 [ 50.0 | 4.0 [ 107.2 | 56.2 | 101.6 | 50.8 | 84.5 | 101.3 | 72.1

5
o)
S\

o

K
M
B
G
I
—
oo/ Q' ) ' Dimension in mm
PART NO. A B C D | E F G H | J K L M
RND 455.00866] 167.0 | 118.0 | 56.0 | 52,5 4.0 |1822 |113.2 | 1778 | 1095 | 88.9 | 143.0[178.2 |130.0
< 4 w| T 0 Q| hib RND 455-00867| 187.0 | 118.0 | 81.7 | 77.7 | 4.0 (182.2 |113.2 |177.8 [109.5 | 88.9 | 143.0(178.2 [130.0
RND 455-00874| 152.4 | 82.5 | 50.8 | 46.8 | 4.0 (147.6 | 77.7 |1425 | 726 | 71.3 |107.5(142.7 | 94.6
- RND 455-00875| 187.0 | 118.0 | 38.0 | 34.0 | 4.0 (182.2 |113.2 |177.8 [109.5 | 88.9 | 143.0(178.2 [130.0
&\ 6 ©) -
E—— L—
C
= _ — )
/A
L
N
B
G
I
—
o9 O Q0
PARTNO.| A | B | c | D] E|F | &
= T o g ) 1905 [ 1905 | 665 | 625 | 4.0 |1857 | 1857
M RND 455-00876 H | J K L M N
&0 59 ; 180.6 | 180.6 | 90.3 | 90.3 | 2155 | 180.9 | 2025
L C
i~ = —
[

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com



RND

lab

¢ sRND RND RND RND

%
QP cable connect components power

Distrelec Schweiz AG, Grabenstrasse 6, 8606 Nanikon, Switzerland, T +41 44 944 99 11, info@distrelec.com, distrelec.com |



	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page



